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Qnpnyl odwlnul datnGwpy L nupnguyul nuwuplpugh
«bnllghwy» phvwl numilwuhptiym hwdiwp: Uj0 Gtpunmd L wjn
pbdwjh  pninp pwdhGGbpp, pwgh wowlgjwih oqlnipjudp
dIniGlghwjh htmwgnuniw b puwdGhg:

Otdwjh mtuwlul dwup Gipuwjugwo L yupuqpudltinny:
Snipwpwlsnip ywupwqpwdphg hbunn juwl pwjwpup pwlwyny
wnwownpulpltn, npnGp 66 Ypylind gnponn nuuwgppbpmyd wnljw
wnwownpulpltpnn: Gppnyyymd JulG wnwownpulpltph d6o dwuh
wwunwujuwGatpn:

GiGtiny ptdwjh wnwldGwhwmympmbGitphg L dwiwlwljw-
Uhg wbjulnnghwbpph (hwdwfuwpgsh b hwiwlwpgswihG hwptp-
Gtph) pGatnwo hGwpwynpnmipynilGlGtphg’ wwwpwuwmyly GG dtow-
owyuwy hwywibgm EtumpnbGwjhG Gynpbp, npnGp Gipluyuguo Ga
qnpnyyypl Yhg juqbpuyhl ujujunwyn:

EayunnGujhG Gymptpp punuguwo G6 Gptp dwuhg.

— LitupnGwjhlG piuntin wipnne ptidwjh ytpwpbpjuwy,

— Jmipupwlymp yuwpuwqpubh hwdiwp PowerPoint thwpbtipny

Ghpyuwjwgynn gnmiGwynp L npwljw] qowqgptipn’ ntlgwo

wmtivwwl Gniph npn) ngpuqbGbpny (pGnhwlnip pwGuwyp 87

hww),

— pnmGyghwyh qpudbhih duwhnfumpniGGhpG nuntdGuuhnptin
hwiwp (wpwwnmtuwo EiunpnlGwihG wihdwghnG Gymphp,
npnlp hGwpwynpmpynml G0 wmwihu wyn pwdhlp dwwnmghy
dwjlwjhG pwgwumpmpmGitpngy gmgnpnuo dphpih dlny
($hpih pGnhwlnip mlnnnipynilp 50 pnwb k):

Ujn Gmptiph oquuugnpoiwl nmintignygnp Ghipluwjugywo bt hw-
Jtquoni: Ujlwmbtn Yqulbp Gl wmbtnbympnGGbp wyn Gymptph
pnjwlnuynipjul L junmgywoph dwuh(:

Qupond ty, np dtinGupyh (gppnyyh b EfupnGuwyhG Gymptip
wuwpniGwynn juwqbpwjhG ujujwnwlyh) oquuwagnpdonuip hb)-
nwglitl L hwdbh YnupdGbl hGywbtu phiwyh nguuwywlnnuip,
wjlwtu k| Gpw jnipugnidp:

LtnhGwypn hp bGpwhimwghunipniGG £ hwymbGnd  GplwGh
Mhnwluwl <wdwjpuwpwGhG wnplptp Upnwpbu  CwhhGyubh
wijwl dShghjuwiwpbdwmhjuywbt hwwunmy npupngh wboph(nti-
pjwlpn dtinGwpyh hpwwmwpwynuip hndulynptint hwdwp:

Q-.Jd. U.6u3U0u



§1. dmlyghw

Uwhdwlmd: “Yphgnp wpjuwo GG X L Y ny nuwuuply
pwqumpjmOGbpp: UjGywhuh  hwdwywumwufuwlmpniGp, nph
nypni X  pwqinipjul  jmpwpwlynip  wnmwpph hwdwww-
nwufuwliny £ dhwjl dty mwpp Y pwqimpniGhg, wGjwimy GG
Hnillhgh mpJuo (npnpywo) X pwquinipjul ypw, nph wpdtipGtpp
Y pwqunipjnilihg tG:

X LY pwqimpmGGtpph Gup 1-h w)-md L p)-md wqunmytpgwo
hwiwywunwuuwlimpmiGGopp pmGyghw GG, hul Gup 2-md
ywwuntpjuwo hwiwywunmwupwlnpymbn pmblyghw sk:

Ul 2

Inlilghwl wijwlmu G0 pyughpd, tpti X LY pwquinipjniGltph
wnwnpnptipp pytip G6: Uyjumhbumlb pmGighw wubing Yhwuljwlwbp
pywyhl pniGhghw:

X L Y pwqimpmGGtph wwppbpp GQuwlwlybim  hwdwn
unynpuwpwp oguuwgnpontd GG x L y mwnbipp:

xe X Ymhnfuww6l wijuwlnmd G0 wlhwfu thmpnfuwlul jud
wpgmdblm, hu] hwiwywunwufuwl ye Y thnhnfuwyun’ Jwjfujuy



hmpnfuwjwG: Uumd GGy dhnhnfuwwlp pmbGyghw L x
thnthnfuwwGhg uwd y-p x-h pnlyghw t:

y thnthnfjuwljuwbh x thnthnjuwuwbGhg $niGyghw 1hGGp qpmd GG
wjuybiu. y=f(x) ud y=@(x), y=h(x), y=F(x) L wyl: Uy
ntiypnud £, @, h ud F wmwntpp pmpwgpnid GG wyG JuGnGp,
nuwn nph unwgynd £ x-h hwdwwywwnwujuwb y wpdtpn:

x thnthnfuwuwGh pninp wpdtipGtipp (X pwuqunipynilp) wGjulnud
bl priblhghuwgh npnpdwl inppngp, npp Gpwlwlymd & D(f)-ny:

UjG yeY wwpptph pwqunipnilp, npnGghg jnipwpwlysjnipp
gnt vty xe X wmwpph L hwiwywunwupwlnd wijuwimd GG f

pnilhghwh wndbplbph puqunpini( uwd wpdbplGbph wnppngp, npp
Gowlwyyni £ E(f)-nd yuwd E(y)-n (E(f)cY):

dnmGyghwih mpiwl wnwyt] nmwpwoywo tnuiwlyp pwlwdlng
npiwl tnulwlyl b Pwlwdlmy pmGlyghwb Gipyuwjugymy L
wlwjhnhly wpmwhwjmnipjudp, npmd GJwo G0 hwunmwumniGGtph
L x-h  wpdbpltph Guwwudiwdp wjl gnponnmpniGGhpp, npnlg
Juwuuwpdiwl wpyynpnmd vnwgynmd G0 y-h  hwdwywumwujuw b
wnpdbpltipn: Pwlwdlp hGupwynpnipjniG £ mwihu wpgnuitGump
guwijuguo wnpdbtph hwdiwn hwpyty dnGlghwjh
hwiwwywunwufuw( wpdtipp:

OppGwy 1: QuGklp y=5x—-1 PmlGyghwjh wpdtpltipp
x=-1; 0L I wpdbtpltiph hwdiwnp:

y=)=5-(-1)-1=-6; y0)=5-0-1=-1; y(I)=5-1-1=4:

Pwlwdlp hGwpwynpnipjniG £ wwihu mot) Gwl hwlwnupd
fuGnhpp. quGbp wpgmitiGnh wjG wpdtpGbpp, npnGg hwdw-
wwunwujuwlnid £ pnGlyghwjh mjw) wpdtpp:

OphGwl 2: QGuGtlp wpgnuitinh wjl wpdtplbpp, npnGgnd
y=4x+3 pmlyghwl plygmlmd £ 3; 0 L =5 wpdbpltppn: dpw
hwiwp wbwmp E oty htulyw; hwjwuwpnmiGbpp. 3=4x+3,
0=4x+3 L —5=4x+3: Qwiwyuwunuwjuwliwpwn YnGaGubp x =0;
X = —é ;X =-2:

4

Gpt Pmllyghwl wnpJwo E pwlwdlny L sh G2wo npnpdwl
wmhpniypp, wyw hwdwpynid £, np Gpuw npnpdwl mppnypp wGwju
thnthnjuwlwGh pnnp wjld wpdbpGbpl GG, npnGg nhypnid wjny
pwlwdll pdwuwm niGh, wyuhlpl wn pwlwdlh OCUL-G E:



Pulwdlny wpwo PpmGyghwyh wpdtpGtph pwqinipynilp
qultn hwdiwp whwp £ yupgb], pb f(x) =a hwjwuwpnidp a-h n"p
wnpdtipGtph  hwdwp niGh gnGh dGy momd: Uynuwhuh a-Gph
pwqunpjn06 £ Juqunud £ pniGyghwjh wpdbpltinh pwqinpniln:
bpnp, Gpb a-h npll wpdtph hwdwp wjn hwjwuwpnidl niGh gnGh
utl monud, wwyw  f(x) PmGyghwl plnmilGnd £ wyn wpdbpp,
wjuhlpl wjl uumwlmu L E(f)-hG: bul] tpt a-h hGs-npn wpdbtph
hwdwnp wyn hwjwuwpnudp omd yniGh, www fix) pnGyghwl sh
nlnniGnd wyn wpdtipp, wyuhlplG wyl sh wwunwimu 't E(f)-hG:

UnwownpuwGpGhin
1. bnGyghwl wmpJuo t f(x) =-3x" +10 pwGwdlny: QGwnbk'p.

w) f(-1), DO, ) f@;

2. Qutp £(0), £(LS), F(=1)n, biphs £(x) =22
x+0,5
3.dwywnGht, np f(x)=x'—10: Qunbk'p.
w) f5), pSfG, @ f2), wfE3:
4, Qwjmbh t, np f(x)=-5x+6: Qutp x-h wjG wpdtpp, nph
nbypnd.
w) f(x)=17,  p) f(x)=-3, q) f(x)=0:
5. Qunt’p x-h wyl wpdbpp, nph nhiypmd g(x) =0, tipk
w) g =aCc+d), ) g =1
6. Qut’p htwnlyw; pwlwdlny wpjuo PpnGyghwjph npnpdwG
whpnijpp.

2x 1
Lu)y=4x—8, Q)y:—s h)y: 2 >
S—x x +1
2 3
p) y=x —-5x+1, n)y= , Q) y=+x-5:

(x—4)(x+1)

7. fpt’p th wylwhuh dnilyghwh ophlGuwly, nph npnpdwl whpnypp
1hGh.
w) pnjnp pytinh puwqinip)nilp,
p) pnnp pytph pwqinipynilp, pugh 7-hg:



8. N°nG t htwmlyw; pwlwdlny wpjwd pniGyghwh npnpdw
whpnypp.

w) y=x"+2x, p)y=fT_1, Q) y=+v9+ux:
X

9. dmGyghwl mpuo t f(x) =2x" —x+2 pwlwdlny: Muwunuln®id
G0 wpynp htwmlyw) pdtpp wyn  dniGlhghwih  wpdtpGhph
wmhpnijphd.

lll) 5 ) p) _6’ Q) 10) 11) _3’ h) Oa q.) 45:

§2. bmllghwyh qpuidphy

Uwhdwlmd: y=f(x) pmbhghuyh gnuphl wlijulmd GG

UnnpphGwwmwjhlG hwppmipyjul  (x; f(x)) Ytwmtph pwquinmpinilp,
npntin xe D(f):

dnGlyghwyh mpdwl tnuwGwlyltnhg dtya £ gpudbhlyngy mpdwd
tnubGwyl E: Gpwdhyp GnylGwbtu  hGwpwynpmipjnlG L wmwihu
wpgnmitinh  guwljugwo wnpdtph hwdwp quGh; pmGYyghwjh
hwiwwwwmwujuwl wpdtipp (GY. 2; 3): Qupbih bt oty Gul
hwijuwnupdé fulnhpp.  pmGyghwgh  Gywo  wpdtpny quGhy
wpgnuibmh wjl wpdbplbpp, npnlGg wjlt hwdwwywwnwuppwinid k
(GY. 4; 5):

P

WK ia

L et

T -B
(x=L y=5);(x=-3,y=-3)  (x=2, y=4);(x=-3, y=9)
U 2 LY. 3
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(y=6,x=15);(y=-5, x=-4) (y=4, x,=-2,x,=2)
L. 4 Ul. 5

dnmlGyghwyh qpudbhyh uvwhdwlnmihg hbnlmd E, np wyl
UynnpphGwwunwjhlG  hwppmipjub  GGpwpwqimpmb L Puwyg
UynnpphGwwmwjhlG hwppnipjul Jtwmbph wdtl dh pwqimpjnib
dnGlyghwih quudhy st Ophluly, Gwp 6-nd wwwmybkpdwd Ynpp
dniGlyghwyh qpudhy ¢k, pwlh np x thnhnfuwlwlh 0 wpdtphl
hwdwywwunwujuwlnd GG y thnhnfjuwljuGh Gpynt wpdtip:

VA

—

M

N
L| W e

T
Ul. 6

Npwbugh YnnpphGwwumwjihlG hwppipjul Ytwmtph pwquinipyniln
lhGh $niGhghwyh gpudpply, wGhpudtym b L pwjwpuwp, np - Oy
wnwlgphl gqniquhtn gwlyugwo ninhn wjn pwqinipjul hbtwn
niGbliw ny wyb pwO dGY nnhwbnip Yhwu:

y=f(x)  pmlhghuyh qpnGbp wljwlmdi GG f(x)=0
hwjwuwnpiwl wpdwwnGbpp: Gpb x5 x,;5..., x, pyapp y= f(x)

pnilyghwjp qpnGtpl GG, www wyn pmGyghwjh qpuphyp x-tiph
wnwlgpp hwumd k x;; x,;..., x, wpughulbp niGbgnn Yhnbpnd:




X dhowlyuwypli wlwlmd &G y=f(x) Ppnbhghuyh
Owlwwywhywlimpjul dhowluwp, tph wjn showlwjpmd y = f(x)
IniGlghw b pnniGma £ dhllnyG GpubGh wpdtplbp:

Llhwp 7-nid yuumytpdwo bt [-6; 6] dhowlwjpmyu npnpyud
y=f(x) pnlyghwl: Uyn dmbyghwyh qpnlliph b6 —4; -1 L 3 pytipp,
[-6; —4) L (-1; 3) dhowuyptipmd pnGlyghwb pnniGmy E ngpujud,
hul (4;-1) L (3; 6] Uhowlwjpbpnd® pugwuwul wpdtipGbp:

}-"Jh
TE )
\

IERATEE 4 JE
T 0 P, :r'
N/ N

-¥

UY. 7

y=/f(x) dmbGyghwyh Guiwywhywlinpjul dhewlwjptpp
qubim  hwdiwp wlGhpwdbym L oty f(x)>0 L f(x)<O0
wlhwjwuwpmdGtnn:

UnwownpwGplhtn

10. ‘LYwp 8-nid wwwmlybpjwo qotiphg npn°Gp GG pniGlyghwjh
qpuiphly.

f\x /‘.\ /. /\/
— :




11. bwp 9-md wwwybpwo by = f(x) pnGlghwyh qpudhyn, nph

12.

npniwl whpnypp [-4; 4] dhowluwypl t: Gpwdbhyh dhongny
qutip.

w) f(-4), f(=3), f0), f& wpdtphpp,

P) x-h wjyl wpdbtipGbpp, npnGg nhiypnd f(x) =-2, f(x)=0,
f(x)=2,

q) $niGyghwjh wpdtpltph wmhpnyypp,

1) GQwlwwywhywlnipjul showlwptpnp:

Ya

\ y[=[F ()

[=vY

-p
Ll 9
Llwp 10-nd wwwmybpwo b y=g(x) dnlyghwih qpudhip,
nph npnpdwl wmhpnyypp [-6; 5] dhowluwjpl t: Gpuwbhyh dhongny
qut’p.
w) g(-5), g(-2), g(0), g, g() wnduplbpp,
P) x-h w)G wpdbplbpp, npnlg nhypmyd  g(x)=-4, g(x)=-5,
g(x)=5,
q) pmayghwjh wpdtplbph wmhpm)pp:

10
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13. Ljwp 11-nd wwwuytpquwo E [-5; 5] dhowyuypmd npngwod
y=h(x) pmlyghwih gqpudhyp: Gwb’p Gpw qpoibpp L
Gywlwwywhywlnpjuwl showlwjptinn:

L

[N

i

F
LY. 11
14. ‘vjwnp 12-nid wuwuntpqwo Lt [-6; 5] dhowlwjpnd npnpywo
y=@(x) pmlyghwjh qpudhyp: Gwbk’p Gpw  qpoGbpp,
Gwlwwywhywlnipjub dhowlwjptpp b wnpdbtplbph
pwqunipjniln:

11
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15. G-otgt’p Uh wjlwhuh $nilyghwyh gpuphy, nph qpnGbpp 1hGkE
httmljwy pytipp. w)-3L3, p)—4;0;L2, q) -3;2;1L5S:

16. Q-otigt’p [-10; 10] npnpiwl whpnyyp niGhgnn dh wjGuhup
dniGlyghwih qpudhy, nph qpobhpp 1hGLGE 25 1 L 3 pdbpp, npp
npuwlwl wpdbplbp pGnniGh [-10; —2) L (3; 10] showwjptipnid L
pwgwuwlwl wpdtpGtp® (-2; 1) U (1; 3) dhowlwjpbpnud:

17. Qnt’p PnilGyghwjh qpnGlpp (Gphk qnynipjniG niGLG).

w) y=—-08x+12, q) y=42+2x,
x +5
6

p) y=CBx—10)(x+6), ) y=

(x—=D(x+38) :

§3. Q-0wjhl PmGyghw

Uwhdwlmy: y=kx+b pulwdlny mpjuo dniGlyghwl, npntin
x-np wiywju YnhnfuwwG L, hull k-G N b-G  hGs-np
hwunwumniG0tp, wGjuwlmd G0 gowhl pniblyghuw:

Lwlh np Aikx+bH wpnwhwjmnmpynip pdwunm  mGh  x-h
gwijugwo wpdbph hwdwp, wyw qowjhlG pnmGyghwjih npnpiwd
whpnijpp (—eo; +eo) thewiljuiypl t* D(y) =(—o0; +oo):

Q-owjhl $mGYyghwih quudhlp mnhn gho L:

Q-0wjhG dniGyghwjh qpudbhyp Junnigbhnt hwiwp pwjujwé
qu(itip qpuippyp tpynt Ynbiph YnnpnhGunbtipp, wyn hnbtpp GG

12



UnnpphGwwmwjhl hwppnipjulG Yypw L npulgny wmwlt; mnhn (GY.
13):

W A f
T = 25T B
fvE3x+ 2
/
. - 1AX
6 of/ &
TS 2
/
P /
[l B
LY. 13
y=kx+b (k#0) mnhnp y-Gtph wnwlgpp hwnmd k£ b opnhGuwwn
niGtignn (0, ) Y, hul] x-tph wnwlgpp hwwmmd L —%

wpughu niGtignn (—%,Oj ytnmmy  (GY. 14):

YA

/

viEPy4

T

L
O')'\F’H

-b
LY. 14
k-G wlwimd G0 mnnh wllymbughl  gqnpowlghg: Uj6

hwjwuwp E ninh b x-tph wnwGgph npuju b niqnnipjul juquwo
wiljwl mwbGqbGuhG:

Gpt k=0, wyw vnwgymd bt y=»~ hwwmnunnnil pnilhghwd,

nph  qpudbhyp y-Gtph wnwlgpp (0; o) Yhunnmd hwwmnn L x-Gph
wnwlgphG gqniquhtn ninhn t (GY. 15):

13
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Q-owjhG  PmGyghwyh dh Jwulwynp nbwpG L nghy
hwdbdwnmwwlmpjul pmilhghwl t° y=kx, npntn k-G qpnjhg
nwnpptp hwunw i E:

Lwlih np x=0 yhypmu y=kx=0, wwyw nnhn
hwditidwunwluwlnpjul qpudbhyn dh nmnhn E, np wGglmd E
UnnpnhGuwuGtph uyqpliwytinmny:

Ninhn hwitdwnmwlwinpjwb dnmbGlghwih qpudbhyn Junnigbjnt
hwiwp  pwjwlw6 E GG qpwdbhyph dh Ybw, wwpptn
UnnpnhGwwnGtph uyqplGwlytnhg, b wyn Jtnng nm YnnpphGuwmbGhph
ulgpGulytimny mwGt] ninhn (GY. 16):

}-"J‘k
Y=rF2x _ JAEY
= X
/
T 1 4 4x
5 g
/
/ 2
-b
LY. 16
y=kx+b L y=kx+b, dmllighwltiph qpudhy hwlnhuwgnn

nihnGtpn.
w) hwwnynud GG, tph &, =k, (GY. 17),

p) qniquhtin GG tpt k, =k,, b, #b, (GY. 18),

14



q) hwipGyGmy GG, tph &k, =k,, b, =b,:

vf Yr |/
VE Iy SIETR 1=3x41) [/
/
/
] 1 EEES RN Y 1 3%
A 0 5 B p 6
e I =BT 171/
1:__' / {_1: A T4
E VA
LY. 17 L. 18

QunGtlp qowjhlG $niGyghwjh wpdbpltiph puqdnipymlnp:

Qpw hwdwp wbtwp E wupgt), pb kx+b=a hwjwuwpnidG n“p
a -tinh hwdwp montd mGh:

Qhnwpytibp tpyme niyp. 1) k=0 L2) £ =0:

UnwohlG ntiypmu ymGtGwlp kx=a—-b hwjwuwpnuip, npp
gwijugwo w9 dwuh, htmbwpwp gulljugwod a-h  hwdwp niGh
neonud: MiptdG, bpt k£ #0, E(y) =(—oe; +oo):

Gpypnpn nhypmd ymGtGwlp 0-x=a -5, hwjwuwpnudp, npp
monwd niGh, ipti a—b =0, wjuhlpl a =b: <tmlwpun, tipt k£ =0,
www E(y) ={b}:

bhwpyt, wju wditlp Jupbh Ep wmbull] hwdwwywunwuhuwb
qpuiphlyltiphg: Pwjg hwdwu pmGyghwih qpuphyp Junnigtine
hwiwp  (wjuwwybu wbwmp L quOl; Gwlk Gpw  wpdbpGhph
pwqunipjnn:

UnwownpubGpGtp
18. Upnyn®p wju pwlwdlnyg mpgwod pniGlyghwb qowjhG t.
w)y=2x-3, @ y=_+l  B)y=x-3,
2 10x—7
p) y=7-9x, r})y=;+1, qQ y= 5

15



19. Q-owjhG PniGyghwl wmpwo £t y=0,5x+6 pwGwdlny: Gwnbp
y-h wpdtipp, npp hwiwwywunwujuwlnd L x=-12; 0; 34
wndtiphG: N°p x-h niypnmd &y -h wpdtpp punlnd —16; 0; 8:

20. Q-owjhG $niGyghwlG mpuo t y =-2x+3 pwlwdlny: Gwnk’p.

w) y-h wpdtipp, tipt x =—1,5; 2; 5; 4,
p) x-h wpdtpp, nph nhiypnud y =—4,5; 0; 1; 1,5:
21. Yunmgtp htimbyw pwGwdlng mpduo pniGyghwih gpudphyp.

w) y=—2x+1, q) y=—x+4,5, h)y:g_3,

p) y=0.2x+5, n) y=x+15, qQ) y=—x-3,5:
22. Gunmgt’p htimbjw pwGwdlng mpduo pniGyghwih gqpudphyp.

w) y=-3x+4, qQ) y=x—-2,

p) y=-x+3, n) y=03x-5:

23. GunmgmuiGbp squuwpbing’ qut’p htwmlyuw; $mGyghwGtph
gqnuwdbhlGoph L YnnpphGwwmwjhlG  wnwlgplGtph  hwwndwb

ytuntinh YnnpnhGwwnmGhpp.
w) y=-24x+9,6, q) y=12x+6,
p) y=-0,7x-28, n) y=-5x+2:

24. QG- owghlG pmGuyghwjih gqpudbhyp x-tph wnwlgpp hwwmmy E 4
wpughu niGtgnn Ytunmd, huly y-Gtph wnwGgpp 11 opnhGwwn

niGtgnn Yhwmnud: Uyn $nilGlyghwl myt’p pwlGwdlnyg:
25. Qunmgbiny y=12x-7 pmllyghwjh gpudhyp’ wupgt’p, ph
wgGn®d & wyn qpudbhyp htimlywy Yhntipny.

w) A(100; 113), q) C(-10; 5),
p) B(-15; -25), 1) D(300; 353):
26. Gunmght’p htwnlyw] pwlwdlny wpjwd nmhn  hwibdw-
nwljulnipjul gpudbhyn.
w) y=3x, Q) y=x, b) y=2,5x,
p) y :_1’5x’ 1’}) y=-X q.) y :—4,5)6:
27. bGswhup®G t PnilGyghwGtph qpuphyltph thnfunuuwynpni-
pjnilp.
w) y=7x—4 L y=T7x+8, n) y=—4x L y=—4x-35,

p) y=10x+8 L y=—-10x+6, G) y=3x+1 L y=—4x+1,
qQ) y=3x-5 L y=-6x+1, qQ y=12x L y=-8x:
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28. SpJwo b y=2,5x+4 qowjhG PnmGyghwG: PwlGwdlb’p nplk
$pmliyghw, nph gpubhlyp.
w) gniquhtin £ mpjuo pniGlighwyhd,
p) hwunnd £ mpjwo pniGlghwjh gpudbhyn:
29. PuGwdlb’p tpynt qowjhG $niGyghw, npnlg qpudhyGtipp.
w) gniquhbin ninhnGtp GG, p) hwwnynn ninhnGhp GG:
30. Qut’p htmlyw $niGyghwbtiph quuphlyGiph hwndwl Yhnmbiph

ynnpnhGwwumGhpp.
w) y=10x—8 L y=-3x+5, n) y=37x—-8 L y=25x+4,

p) y=14-25x L y=15x-18, &) y=14x L y=x+26,
q) y=20x-70 L y=70x+30, q) y=-5x+16 L y=-6:

§4. dnGyghwGtph hwnympmGGitpnp

1. dniGyghwjh inGnnnlnpjnGp

Uwhdwliny: y=f(x) PpmbGyghwl wljwlnmd &G X
pwqunipjul Jpw wdng, tpbh wjn pwqimpjulp wwwmlwlnn
wpgnmitinh  wybh Jdko  wpdtphG  hwdwywunwupwlimyd L
PnilGlghwjh wytih dto wnpdtip, wyuhlpl tpt guwliljuguwo x,x, € X
pytiph hwdwp x <x, wlhwjwuwpnipynilhg hbnlmd E, np
fx)<fx,):

Uwhdwlmd: y= f(x) pnilyghwl wiwlimd t6 X puqinpjul
Jynw 4Gywgng, tpbh wyn pwqinpjulp ywwlwlnng wpgnidtiGnmh
wybih Who wnpdtphlG hwiwwywunwufuwlnd £ $niGyghwih wybih
tinpp wpdtip, wjuhlpl tpt guwljugwo x,x,€X pytph hwdwp
x, < x, wihwjwuwpmpjnilhg httmlmd £, np f(x,) > f(x,):

Uwhdwlmy: dnmGyghwl wijwlmd GG wdng (Gyjuwqgng), tpt
wji wdénn b (hwiwywunwuuwlGwpwp' GJugnn  E)  hp

npn)dwl mhpnypniy:

Udnn L GJuqgnn $niGyghwGtnl niGhG plnphwimp wijwlng
UnlGmnnl pnilGlhghwlbn:

Munpgtlp y=kx+b (k+0) qowjhG PniGyghwjh
dnGnunnOnipjwul hwpgn:

GOpwnptilp x-n L x,-p juwdwjwlwh tpyne pybp GG, pln npnid
X > X, q'mﬁhﬁp f(x1)_f(x2)']3:
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MmaGhbp f(x)— f(x,)=kx +b—kx,—b=k(x,—x,): Lwlh np x >x,
wyw  x, —x,>0: MptdlG  f(x)— f(x,)>0, tph k>0, l
f(x)—f(x,)<0, tpt  k<0: Wyuwhuny, y=kx+b (k%0) Inily-
ghw( wann b, tpti £ >0, L Gugnn L, tpt £ <O0:

Gpb k£ =0, wyuw, hGsytu ghntilp, pniGyghwl hwumwwmni( k:

bniyghwjh dnlnunlnpjul dwuhlG YJuwptjh £ guwmb Gl
tiGtny pnilyghuwgh qpuphlyhg: bmbyghwjh wann (GYwgnn) thGbp
Gpw gqpwdbhyh Ypw wpumwhwjmymd L Gpulng, np tpp Ytup
gnwdbhih ypwyny 2wupdynd L nhiyh we, Gpw opnhGwwmp vtowlnd L
(thnppwlnud L), wjuhlpG Yhwmp pupdpwlnid k ytip (hoGnud £ Jup):

Llhwp 19-nid wwwmybpwo gpubhyltphg w)-G waénn, hul p)-Ga
(Jwqnn dniGlyghwjh qpudhy L:

ve T )

-
e
L
-
']
[~
Fa
I

L
O')!‘H

B -b

w) D)
LY. 19

‘Llhwp 20-md yuwuntpquo t ny dnGnunG $niGyghwjh qpudbhy:
U6 wénn k [a;p] L [0;¢] Showlwpbpmy, Gywuqgnn & [6:;0] U [c;d]
dhowljwjpbpnid:

vA

L. 20
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2. dnilGyghwjh vwhiwlwthwlnipjniln

Uwhdwlmy: y=f(x) dImlyghwlG wGjwlmds Gl yhplhg
vwhdwluwihwl, tpht gnupyml mbGh wjlyhuh M phy, np
gwijugwo xe D(f) hwdwp f(x)<M:

GnwdhynptG nw Guwlwymu L, np y=M nunhg Jbp wn

PIniGlghwjh gpudbhyhl wwwmljuwlnn Yonmtin gnynipjnia sni0LaG:
Uwhdwlmy: y=f(x) dInmlyghwl wljwlnd Gl Ghpplhg

vwhdwluwiwly, tpt gnynipjniG niGh wjlGwhuh m phy, np guGljuguo
xe D(f) hwdwp f(x)=m:
Gnwdbhynpbl nu GQwlwymu E, np y=m niqnhg Ghppl w)n
I llyghwjh qpubhyht yuwmlulnng Ytmbp gnympnil sniGha:
Uwhdwliny: y=f(x) PIniGyghw wijuwlnud Ll
vwhdwlunuly, tpt w6 vwhdiwlGuhw] & L ytplhg, L Gipplihg:

Gpwdbhlynptil nu Gulwynd b, np wyn pnilGlyghwjh qpubhlp
pGwo k y=m L y=M mnhnGbpny vwhiwlGwhwlywo tpnh dtg:

Uwhdwlnid: Gpt qnympjym0 mGh $pmGyghwih wnpdbpltph
pwqunipjuln yquwwujwlnn dtowgnyt phy, wyw wjl wijwlnd ta
dnGlyghwjh dadwqniji wpdtp, hwljwnwl npbypnid $nilyghw
dtiowqniG wnpdbp sniGh:

Uwhdwlnid: Gpt qnympym0 nmGh $pmGyghwih wnpdtpltph
pwqinipjuln yuwmjwbnn thnppwagniyt phy, wyw wjld wijuwlnid
60 pniGlyghwh thnppwgniyl wpdhp, hwljunwl nhypnid pnGlyghwb
thnppwqntjG wnpdtp sniGh:

‘Lwhunpn wuwpwgpupnd vtlp wmbtuwlp, np y=kx+5b qowjhl
dniGlyghwjh wpdtpltinh puqinmipniln’ E(y) =(—o0; +o0), ipk k #0 L
E(y)={b}, tpt k=0: <tmlwpwp, btpt k#0, www qowjhG
InGlghwl vwhiwlGwihwy sk ny ytinlhg W ng £ Gapplhg: UjG yniGh
ny utiowqniyG, L ny £ thnppwqniyG wpdtip: buly tpt £ =0, wyw wjG
vwhiwlwhwy b Lpw dtowgnyG L thnppwagniyylG wpdtipGhpp
hwyjwuwn GG b-h:

3. dmllghwjh qniyqnipjnilp

Uwhdwlmd: y=f(x) Ppmlyghwli wljulmdi GG qgniq
InGlyghw, tiph guljugwo xe D(f)-h hwdwn

w) —xe D(f),

p) f(=x)=f(x):
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9niyjq  pnlGyghwih qpubhyp hwdwsuh L opnhGwwmGtph
wnwlgph Guwmdwdp (GY. 21):

V/
! P2 f
\ AT f
EEE S ENVEREE LI
A / 0 \ S
/ -

\ F=hl=| (4 /

\/ °’ A/

¥
Ll 21

Uwhdwlmy: y=f(x) dImGyghwli wljwlinmdi GG [Jhlwn
PniGyghw, tipt gwijugwo xe D(f)-h hwdwn

w) —xe D(f),

P) f(=x)=—f(0):

Gtln pmGyghwjh qpudbphyp hwdwswh bt YnnpnhGuwmbGbph
ulgpGuytimh Guwumdwdp (GY. 22):

ya

f3)= (3

NN T

o™

-p
LY. 22

Lotlp, np pnmllghwl Ywpnn £ thGh ny qnyq L ny £ Yulum:
OphGuy, tpt  y=f(x) Pmlyghwjh hwdwp x € D(f), puwyg
—x, ¢ D(f), wyw wjl ny qniyq £ b ny £ Yhlwnm: Gud tph npuk x-h
hwiwp —xe D(f), pwyg f(=x)-p hwjwuwp 3t ny f(x)-hG b ny by
— f(x)-hG, wyw wjG ny qnijq £ Lny £ Yhlwu:

Mupgtilp y =kx+5b qowghl $niGyghwjh qnijgmpjub hwpgnp:

20



Lwlh np D(y) = (—o0;+00), wyw gulijugwo xe D(f) hwdwn
—xe€ D(f): Unw Ynndhg, f(—x)=—kx+b: Fhnwnpytlp tptp ntiyp.

) k=0: Uyju npbhypmdi guwlljugwd xe D(f)-h hwdwp
f(=x)=b = f(x): L<bmlwpwp hwunwwnmniG $niGyghwl gniyq t:

2) k#0, b=0: Uju npbypnud guwlljugwd xe D(f)-h
f(=x)=—kx=—f(x): <tnmlwpwp ninhn hwitdwnwlwinpuwb
dnGlyghwG Yytlw k:

3) k#0, b#0: Uju nhypnmi f(—x)=f(x) wuwjiwlp
—kx+b =kx+b mtinh niGh dhwjl x =0 ntiypmui: buly f(—x) =—f(x)
wuwjiwp hwdwpdbp £ 0-x =20 hwjwuwpdwlp, npp nond ynilh:
Lbumlwpwp, pb £ #0, b #0, wyw qowjhl pniGlyghwG ns gniyg £ L
ny £ Yulwu:

QhunnmipyniG: Loyl pwlwdlny wpwo  $mGyghwbtph
gniygnmipjmGGipp  Jwpnn GG 1hGG wnwppbp:  OpphGwl y=3x
InGlyghwb Ytlwm E, pwyg y=3x, xe[-2;3] dnllghwl ny qnijq L L
ny £ YulGwu:

UnwownpubpGtp
31. bjwnp 23-md wuwwunytpwo L [-6; 6] vhowuwypnid npnpywd
y = f(x) dmbyghwjh qpuidphlp:
w) Lot'p wjyG Showlwjptpp, npnGgmd $niGyghwlG wdmyd k, L
w0 dhowlw)ptinn, npnGgnd pniGlyghw b GJugm k,
p) $nGyghwjh dhowgniyG L thnppwqgniyG wpdtpGtpp:

}.'Jh
\
\ VIR
N VI 13/ A §x
6 of \ &
\ ) 4 N
7
13

LY. 23
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32. Qowqpt’p [-3; 4] npnpdwG wmhpnyp niGtgnn wjGwhuph dh
$nilyghwjh qpuiphy, npp.
w) wdh [-3; 0] dhowjuwypnid L GYugh [0; 4] dhowlwjpniy,
p) GJwqgh [-3; 1] dhowlw pmd L wdh [1; 4] dhowwjpniy:

33. <twlyw) pwlGwdlnyg mpuwd niGyghwGhphg npn”°Gp GG wdnn.

w) y=—"2x+1, q) y=—4x+4,5, L) y=3x,
p) y=0,2x+5, n) y=x+15, qQ y=—x-35:
34. L<tnlyw) pwlGwdlng mpud $niGyghwbGtnhg npn°Gp GG GJuqnn.
w) y=-5x+3, q) y=—x+3,5, ) y=0,3x+1,
p) y=2x+5, n) y=06, qQ) y=—x+10:

35. Gupn®n t wénn $niGyghwG 1hGby.

w) Gtpplhg vwhdwlGwihwy,
p) ytiplhg vwhdw Guwithwy:

36. Gupn’n t Guqgnn $niGyghw 1hGhy.

w) ytiplhg uwhdwGwthwy,
p) Gtpplhg uwhdwlGwihwy:

37. Gupn®n t wdénn $nlGyghwl pGnniGhp dhwjl puguwuwlub
wndbpbbp:

38. [a; b] dhowljuypnid UnGnunnG $niGyghwjh qpubhyp [a; b] thow-
Juwyph pwGh® Yhwnnd Jupnn E hwnt) x-tiph wnwGgpp.

w) 0; pl; @2 n)3:

39. f(x) L gk PpmGyghwbtpp [a; b] Yhowlwjpnid npn)wod
dnGyghwGbp GG, plGn npmd f(x)-n wdénn E, huy gk)n
(Jwqnn: Pwugh wyn, f(a)=g(a): [a; b] dhowlwjphl ywwnlwlnn
guljugwd x-h hwdiwp n"p wihwywuwpnipyniGG E dhywn:

w) f(x)>g(x); p) f(x)=gkx); q) fF)<gx); n) f)<gx):

40. y=—x+7; y=5; y=4dx; y=-3x; y=-2x-3; y=-372

$niGyghwltiphg npn°Gp Ga.

w) qnijq pmlyghuw,

p) Ytlw pnillyghu,

q) ny qnijq L ny £ Yalum dnllghw:

41. y= f(x) pnmGyghwl npnpgwo t [—4; 3] showwypnid: Gupn'n L
wjn pnGhghwb 1hGH gniyq Yud Yhlwu:

42. Qujnbh £, np f(-2)=L4, huy f(2)=4: Guwpn®n Lt y= f(x)
dniGlghwb 1hGH) gniyq fud yhlwu:
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43. Uyugmgt’p, np $niGlghwb gqnuq k.

2 4 1
w) y=x +3, p) y=-x, q) y=——:
x +1
44. Uyugnigh’p, np $nilGlyghwb YhGw k.
5 3 2
w) y=x, p) y=-4x, Q) y="":

45. Lljwp 24-md wwwnybpqwo by = f(x) dnlhghwjh gpudhyh dh
dwup: dbnGyghwjh npn)dwl whpnypp [—4; 4] dhowlupl E:
Gunngh’p wyn pnillyghwjh qpuphlp’ ghnbiGwny, np wj.

w) qnijq pnilGlghw £, p) Yuln pnmblhghw k:

1‘.'1&

R B

-p

Ul 24

46. Lwp 25-nud wuwwnytpjuo £y = f(x) pmGlyghwjih qpuphyh dh
dwup: dbnmbGyghwjh npn)dwl whpnypp [-5; 5] dhowluwpl E:
Uwnnigh’p wyn $mGyghwjh qpuidhyp’ ghwbiGuiny, np wy.

w) qnijq pnillghw t, p) Yuln pnblhghw k:

‘."JK

SR B

Ll 25
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§5. Lwunwyniuwjhl $nGyghw

Uwhdwlmd: y=ax’+bx+c¢ pwlwdln wnpjuwd $nillghwd,
npntin  x-p wiwju hnthnfuwwG t, huy a-G, b-G L c-G hGsy-np
hwunwwumniG6tp, pln npmd a #0, wijwlnd G0 pwrwlniuuighl

pnitalhghw:
Lwnwlnuwiht  $Inllghwjh nunmidGuwuhpnipjnilp  ulublp

b=c=0 dwulwynp ntiyphg, wjuhlpl y=ax’ (a#0) $nilyghwjh
nuuntiGwuhpnipnilhg:

Mwnq £, np pniGyghwjh npnpdwl whpnypp’ D(y) = (=03 +e0):

Gpth x=0, wyw y=ax’=0, wjuhGpl $niGlyghwjh qpuPphyG
wlglinud L YnnpnhGwwmGbph ulyqpGulybumny: Gph x#0, wwyw
PnGyghwl plypmbmd L pgpuiwl wpdbpltp, Gpp >0, L
pwgwuwlwl wnpdtplbp, Gpp a<0: Lwlh np gwlijugwo x-h
hwdwp y(—x) = y(x) =ax’, wyw y=ax’ $nilGlghwb qniyq t L Gpw
qnudbhyp hwiwswih £ y-Giph wnwlgph Giuumdwdp (GY. 26):

}l F }_: -~

1
B TR S I 701 4 5 58X B TR < Y 1 2 3 4 § X

w) o)
Ul. 26

y=ax’ (a#0) dnGyghwjph qpudhyl wlijulmd GG wuwpwpn:
Muwpwpnih L Gpw hwdwywhnpjul wnwlgph hwndwl Yt
wijwlmu bl wwpwpnih ququip:
PJupytibp y=ax’ $niGlhghwjh hwnlympjmbhtpp, tpp a >0:
1. pnrlGyghwyh npndw G mhpnypp' D(y) = (—oo;+ ),
2. pnGyghwjh wpdtpltinh puqinipyniGp” E(y) =[0;+00),
3. pmGYyghwl mGh d&Y gn” x =0-G,
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4. pnmGyghwG qnuyq k,
5. pmGyghwlG GJugni E (—e0;0] dhowljuypmd L wénmy L

[0;42) dhowlwjpnid,

6. dnilGyghwjh thnppwqgniyG wpdtipp hwjwuwp L qpnjh, npG
nnnilnud £ x =0 Yhnmd, hul) dtowgniyG wpdtp sniGh:

Ujdd pJupytlp y=ax’ pmGyghwjh hwwnmynmpjmblitpp, bpp

a<0:

1. pniGyghwyh npnadwl whpniypp’ D(y) = (=05 + ),

2. pmGyghuwyh wpdtipltiph pwqinipymbp’ E(y) = (=eo;0],

3. pmGYyghwl mGh d&Y gn” x =0-G,

4. pniGlyghwG qnyyq L,
5. pnmlyghwlG wanmd £ (—o0;0] dhowlwypnmi L GJugnui L

[0;4 o),
6. pniGlyghwyh dhtowqnylG wpdtipp hwjwuwnp E qpnjh, nplG
plyniGmd £ x =0 Yhwmmd, hul thnppwgnyyG wpdtip sniGh:
UGgGkGp pGnhwGnip nbwyphG y=ax’+bx+c (a#0): Qpw
hwiwn we dwuntd wlowwmblp phy pwnwlyniuh.
y= a(x+£)2 —bz —dac =alx—x) +y.,
2a 4a ’ ’
npunbn x, :—i, Y, :—2:
2a 4a
Lwlh np  y=fx—x) pmbyghwjh gpudhyp vnwgynui k
y=f(x) Ppmbyghwjh qpudhyhg wjl x-tiph wnwlgpny x-m]
wbnwwndbiny, huly y = f(x)+y, pnilGyghwjh qpuphyp unwgynid
L y=7() ImGyghwjh qpuwphyphg w)lG y-Ghph wnwlgpny y,-ny
wmtinu)wpdtiing (mtu 9  41), wwyw pGphwlnip nhypmd
pwnwynuwjhl  pmGyghwyh  gpuwdbhyp  Yunwgdh  y=ax’
bnllghuwyh qpuphljhg wylwhuh gniquhtin wnuihnfunipjwdp, nph
phiypnud y =ax’ wwpwpnh ququpp (0;0) Yanhg Yubtnuihnfudh
(x,;y,) Ybump: MpbdG pwnwlinuwghlG  $mblhghwih qpudbhln

wwpuwpny E,
1. npp hwdwywth £ y-Gtph wnwlgphl gniquhbtn x = x, ninh

GJuwundwdp,
2. nph ququpn (x,; y,) YuwnG L,
3. npp hwunnmd & y-Giph wnwGgpp (0; ¢) Yhunnud,
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. nph §ninbpl ninpnjuo GG Jtp, Gpt a>0, L nuuo GG
Gtppl, tph a <O,
. npp sh hwunnd x -tiph wnwgpn, tph D <0 (GY. 27),

. npp pnpuwthnmd £ x-tiph wnwGgpn x, = _Zi ytiwnnud, tipkk D=0
a

(ay. 28),
. npp hwunmd £ x-tiph wnwlgpnp ax’® +bx + ¢ =0 hwjwuwpiwl
wpiwwnlbp hwlnhuwgnn x, L x, Yhmbpmd, tpi D >0
(GYy.29):

VK v 4

a=0, D<0

Bolordy

a<g0, D=0

Lv.27

AY v 4
a=0, D=0

R T - 1 2 3 4 4 X B T < I | 1 2 3 4 5 66X

I, e *o 7
a<0, D=0

Ul. 28
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a<0, D=0
a=0, D=0

M

-6-5-4-3-2-1_.4' 1k455.‘-€

B A T I 1

-7 ‘xl\ X Ay 7 -7 X X, X, 7

M

L. 29
Gpb a >0, wyw pwnwyniuwjhlG pmbGyghwl ynbGh dtowqni)G

wndtip, huy thnppwagnyl wpdtpp hwjwuwp by -h: (ipbdl
E(y)=[y,+e):

Gpt a <0, wyw pwnwlniuwjhl $niGyghwb sniGh thnppwagnijQ

wpdtip, hul dhowqnyyG wpdtpp hwjwuwnp bt y,-h: <Gmbwpup
E(y)=(=oy,]:

47.

438.

49.

50.

UnwownpuwGpltin

LuwnwlynuwjhG $mbGyghwb wpjuo t y=i)c2 pwlwdlny:

Q.unti’p.
u'l) y _h wIlthEa hph X :_2)5; _1)5; 3’
p) x-h wjl wpdtpGbpp, npnlGg nhypnd y =5; 3; 2:

LuwnwynuwyhG $mGyghwl wpjwo Lt y=2x" pwlwdlny:

Q.unbi’p.

w) y-h wpdtipp, tipk x=-1,5; 0,5; 1,5,

p) x-h wyG wpdbtpltipp, npnlg niypnd y =2; —3; 0:
UutidwwhynptG  gniyg  wyb’p, pb  YnnpphGuwwunwjhG

hwppnmipjnilnd hGywbu E nuuwdnpuwo pniGhghwjh gqnudbhlyn.

w) y=-3x", p) y=0,8x":

Qwnyn®d GG wpynp y=x"-2x+3 wuwpuwpn)G m hbtnlyug
ninhnp.
w) y=2x-8, p) y=-4, q) y=3x-3:
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51.

52.

53.

54.

55.

56.

57.

58.

59.

Gpt  hwwmymd GG, wwyw qub’p hwwdwl Yhtnbtpp
ynnpnhGuwumGbpn:

y=2x"=7x+1 pmGYyghwjh gqpuphyhlG yuwnlwan1d L wpnnp
htnljwy tun.
w) M(2; -5), p) N(=3; 10) q) P(=1;10):

y=x" wupwpnh dLwlGinph oqlnipjudp Junnigh’p wnpjuo
Ppniliyghwih qpubhiyp.
w) y=x"—4, n) y=—(x—3)"+5,
p) y=(x-5), b) y=(x-2)"+1,

q) y=—x"+3, Q y=(x+3)"-2:
Gwnmgb’p pnilyghwih gpuphyp b Guwpwgnbtigh’p pniblyghwjh
hwwmynipjniGGtpp.
w) y=x"+2x-15, n) y=6x—2x",
p) y=0,5x-3x+4, L) y=Qx-1)(x+1),

q) y=4-05x, Q) y=(2-x)(x+6):
Q-nt’p dniGyghwh wpdtpGiph whpniypp.

1 1
w) y=3x"-05x+—, =——x"+4x-55,
)y T q) y 5

) y=2x"+12x+2, ) y:_3x2_2x_4§;
b-h L c-h ph°Gs wpdtipGhph nhwypmd y = x* +bx + ¢ wupwpnih
ququpn (6; —12) Yyt t:

a-h  h°Gs wpdtpGhph phypnd y=ax’—16x+1 wuwpwpnih
hwiwswihmpjul wnwlgpp x =4 ninhn( t:

c-h  h°Gsy wpdtpGhiph phiypmd y=x’—6x+c¢ $nlGlghwjh
qnuwdbhlp qubynid £ httmmlywy ninnhg Yybp.

w) y=4, p)y=-1l
Pwlwdlny Ghipjuwjugnpt’p nplt puwnwyniuwhG $niGlyghw, npp.

w) (—o0;—3] dhowlwypmu Gwqh, hull [-3;+c) dhowluwjpnid
wah,

p) (—o0;6] dthowlwypnid wéh, huy [6;+ o) thowlwjpnid Gywgh:
dmlGyghwl mpywo £t y=x’+ px+¢ pwlwdlny: Gnt’p p-h L
g-h wpdtpltipp, tpti hwjnGh E, np.

w) $nillyghwjh qpnGtpa Ga6 3 L 4 pytpp,
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p)  Pmlyghwyh  qpwdphypn YnnpphGuwwltph wnwlgplbpp
hwund k£ (0; 6) L (2;0) Yhwmbpmu:

§6. Lwnwyniuh wihwjwuwpniltn

Lwnwyniuh wihwjwuwpmiGbp notint hwiwp  pwjuwyui L
wwwlybpty y=ax’+bx+c (a#0) PpmGyghwjh qpudhyp’
Juplnpbnyg $nmGyghwjh gonGtpp (hwiwywumwufuwl pwunwniup
hwyjwuwpiwl wpdwwmbbpp) L ywpwpnih §nimtiph nignnupniGn:

UpdwwunGtph pwlwlyhg L §ymntph quuwynpmpnilhg juujuo
wnw(dbGwgltlp Yytg ntiwyp.

1)a>0,D<0:

Uju ntypnid ywwpwpnih §mnimtpp ninnjuwo GG Jytp, L wyG sh
hwwunnd x -tiph wnwGgpn (GY. 30):

L. 30

bumbwpwp ax’+bx+c¢>0 L  ax’+bx+c >0 wihwjwuwpy-
Gtph noniG £ xe (—oo;+o0), hul ax’ +bx+c<0 L ax’+bx+c<0
wihwjuwuwpnuiGbpp uomy smiGhG" xe O

2)a>0, D=0:

Uju niypmd wwpwpnih §ymmtpp nunyuo GG ytp, L wyG x-tGph
wnw(gph htim niGh vty pnphwlnip Yhwn (GY. 31):
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Ul. 31
Lbmlwpwp
ax’ +bx+c>0 & xe (—ooyx,)U(x,;+0),
ax’+bx+c>20 & xe€ (—oo;+00),
ax’ +bx+c<0 & xed,
ax’+bx+c<0 & x=x,:
3)a>0,D>0:
Uju nhypnid wwpwpnih §ynintipp Gnphg mnyuwo G6 ytp, L wjG
x-tph wnwlgpp hwnnd £ x, L x, Yhmbpma (GY. 32):

i

vl 32

Lbmlwpwp
ax’ +bx+c¢>0 & xe€ (—oo;x) U (x,;+00),
ax’ +bx+c20 & xe (—oox |U[x,;+),
ax’+bx+c<0 < xe(x;x,),
ax’+bx+c<0 < xe[x;x,]:

4) a<0, D<0:
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Uju nhiypnmd ywuwpwpnih §nintipp nunyuo 66 Gappl, L wyG sh

hwunnd x-tiph wnwGgpn (GY. 33):

Ll 33
tmlwpwp ax’+bx+c>0 L  ax’+bx+c2>

0 wihwjwuw-

nuiGtipp ol sniGhG xed, huly ax’ +bx+c<0 L ax’ +bx+c¢ <0

wlhwjwuwpiGbph oMl E xe€ (—oo;+00):
5)a<0, D=0:

Uju nbypnid wwpwpnh §nintipp ningnjuo GG Gappl, L wjG
x-tiph wnw(gph htim niGh vty pGnhwlnip fhn (GY. 34):

LY. 34

Lbmlwupwp
ax’+bx+c>0 & xed,
ax’+bx+c20 < x=x,,

ax’ +bx+c<0 & xe (—oo;x,)U(X,;
ax’ +bx+c<0 & xe (—oo;+00):
6) a<0, D>0:
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Uju niypmd yuwpwpnih ¢mmbtipp Gnphg mnnjuo GG Gtppl, L
wjl x-tiph wonwlgpp hwunmd £ x, b x, Yhnbpmd (GY. 35):

UY. 35
Lbmlwpwp
ax’ +bx+c>0 & xe(x;x,),
ax’+bx+c20 < xe[x;x,],
ax’ +bx+c<0 & xe (—ooyx,)U(x,;4 ),
ax’ +bx+c¢<0 & xe (—oojx, JU[x,;+0):
QhnnnmpjniG: Gupbih tp puwjwpwyt] wnwehl tptip ntwpny,
pw(lh np Gpt a<0, wyw pwqiwywuyting wihwjwuupiwb
tpynmt  Ynnibpp —1-nd L dnjubnd wlGhwjwuwpdw6 G win,
UniGbGwlp wmpjwohlG hwdwnpdtp pwnwlnuph wlGhwjwuwpny,
npnd x*-nt gnpowljhgp npuijuG t:

UnwownpuwGpltin
60. Lmotigh’p wGhwjwuwnpnudp.
w) x* <16, b) x* <0,
p) x’ >3, q) —0,5x* <x,
q) 0,2x* >18, L) 3x* < -2x,
n) x* >0, n 7x<x’:
61. Lmotigh’p wGhwjwuwnpnudp.
w) x*+2x—48<0, b) 4x° —12x+9>0,
p) 2x°=7x+6>0, q) 25x*+30x+9<0,
q) —x’+2x+15<0, L) —10x* +9x >0,

1) —5x2+11x—6>0, E)—2x2+7x<01
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62. Lnmotgt’p wlihwjwuwpmup.
w) 2x°+3x-5>0,
p) —6x’+6x+362>0,
q) 2x*+13x-7>0, L) 3x*=2x>0,
n) —9x*+12x—-4<0, n 8—x’<0:
63. Q-nt’p $niGlyghwjh npnpdwG mhpniypn.

w) y=~/—4x>+20x—-25,

h) 6x° —13x+5<0,
q) —2x’—5x—18<0,

|

Y Y e+ 7x-13
1
=+/x"=5x+6, = :
Py My J2x —12x+18

3 k
§7. y=lx|, y=x> Ly = PmGyghwGtpp
1. y =[x $mbyghwa

x, x=20
Luwlh np |x] :{ o> W ng pwgwuwlwb x-tiph hwiwp

y=|x  $mlyghwl hwipGyemds t y=x $mbGyghwyh, huy

pwgwuwlwl x-tph hwdwp' y=-x $nmlyghwjh htim (G4.36 w)):

Ltumbwpwp Gpuw qpuphyp mGh Gup 36 p)-md Ghpluwjuguo
mbupn:

VI AES
v == [K|
1V E TN ==
1 1
E o Fi X E N 4 X
7 . A :,r K 0 :,.r
-¥ -¥
w) P

Ul. 36
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Lwlh np gwlijugwo x-h hwdwp y(—x) = ‘— x‘ = ‘x‘ = y(x), wyw

y=|x $mlyghwl qmjq t L Gpw gpuphyp hwiwswh b y-Ghph
wnwlgph Gundwip:

PJunytlp y=|x $niGyghwjh hwwnynipjniGhtpp:

1. pnilyghwjh npnpdwl mhpnypp™ D(y) = (—o0;+00),

2. pmyghwyh wpdtpltiph puqinipymbp’ E(y) =[0;+ ),

3. pnGyghw G nGh vty gpn” x =0-G,

4. pniGyghwG qnuyq t,

5. pnmGlyghwbG GJugqmui E (—o0;0] dhowlwjpnid L wdému L

[0;+ ) dhouiljujpmud,

6. pniGyghwjh thnppwqgniyG wpdbpp hwjwuwnp t qpnjh, npl
nnniGmd £ x =0 Yhummd, huly vkowqgniyG wpdtp sniGh:

2. y=x" pmGyghwab

Lwlhnp ¥ wpnwhwjnnpniip pdwuwnm niGh x-h gulGiugud
wnpdbph  hwdwp, wyw  pmbGyghwh  npnpdwlG  whpnypp
D(y)=(—o0;4+): Gpti x=0, wyw y=0, wjuhlpl PniGlghwjh
gnuwdhll wlglmu E YnnpphGwwmGtph ugqpluytmny: dnGyghwi
nnpnind £ npuuwb wpdtpltpn, Gpt x>0 L pwgwuwlwl
wpdtipGbp, btpht x<0: Lwlh np gwlljwgwo x-h hwdwnp
yx)=—x'=—y(x), wyw y=x'  PImlyghwG YtGwn L L Gpw
gqnuwdbhlp hwiwswih £ YnnpnhGwwmGtph uyqpiwlytimh Gumdwdp:

Uuugmgtip, np y = x* $nilGlghwl wénn t:
GOopwnntip x-p L x,-p Jwdwjwlwb tpym pybp GG, pln npond
x, > x,: 8nijg mwlp, np x’ > x.:

Gpt x, >0, huy x, <0, wyw x >0, huy x, <0: {tuwlwpwnp
x> X

buy Gpt x-p L x,-p mGhG GnyG Grwlp, wyw x -x, >0, huly
x —x, =(x,—x)(x+xx,+x): <Kbwmlwpwp Gnphg YniGLGwGp
x> X

y=x" pmGyghwyh qpuphyld wljuwlmd GG junpuGupnujh
wwpwpny: UjG nGh Gunp 37-md Geipluwjwugyuo mbupn:
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3. y= K (k #0) hwjunupd hwitbwnmwlulnpjul PnGlyghwb
X

Lwlh np K wpunwhwjnnipjnilp hdwuwm yniGh dhwyG x=0
X

hunnud, wuyjw dnlyghwjh npndw i wmhnpnypn’
D(y) = (=0;0) U (0;+c0):

Gpp k>0, dmGyghwl plygnilnd E gpujul wpdbpltp, tph
x>0 L pwgwuwlul wpdtipltin, tph x <0:

Gpp k<0, pnGyghwl plnnmbGmd E ngpulwuwl wpdtpltp, tph
x <0 L pwgwuwlul wpdtipltin, tph x> 0:

Lwlh np K =b (k #0) hwjwuwpnudp niond ynilGh shwyyG b =0
X

ntwpnid, wujw PniGlyghwjh wndtipGhph whpnipp’
E(y)=(—o;0) U (0;400):

Lwlh np gpnjhg wmwpptn gwliugwo  x-h hwdwn
y(—=x) = _k =—y(x), wmyw y= K PnGyghwl ytlGn E L Gpuw
gnudbhn l)iuuiul swih k llnnpr}hﬁulilﬁhph uljqplwljtmh Guwmdwdp:

Munpqtlp y :g (k #0) InmGyghwjh dnGnunnlnpjwb hwpgnp:

GOopwnptilp x-p b x,-p Juiwjwljuwl pwgwuwlwb pyup ba,
pln npnud x, > x,: Wyn phiypnd x, - x, >0, x, —x, <0: <tnlwpwn
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k k kix, —x

Fr) - flay=X K K2 g
xl x2 x1x2

:E—E:M>O,hpp k <O:

XX XXy

, bGpp k>0 L f(x)—f(x,)=

Wuwhund, (-:0) L (O+o) Ghowlupbpmd  y="~
X

PnGyghwb Gyugmu k, tpp £ >0 Lwdnud k, tipp £ <0:

Jwjwnupdé hwitdwnwwlimpjuG $nmGyghwh qpudphyd
wljuwlmd GG hhwtppn;: UjG niGh Guwp 38-md Ghpluwjuguo
mbupn:

I- g ,Jk}
"l = : | ]ill
A T
n-lo \ ,
\ KEN
’f
. T G A —= P : 4 3 BX
7 ~— 0 7l Lz 0 17
P
\
/
!
7 |
w) )
UY. 38
UnwownpubpGtip
64. y =|x| dmlGyghwjh npnpdwl whpniyphG wwwnlwln®id b6 wpnynp
htunlywy pytipn.
lll) 5’ p) _49 Q) 0’ 1’}) —10:
65. Mwunjwin™d LG wpynp htwlywy pdbpp y = \x\ dniGyghwjh
wndtpGtnph pwquinipjulp.
w) 3, p) 2,6, q) 0, n) —13:
66. <twlyw| dhowluwjpbphg npnGgn”d L y=[x PniGyghwa
unlnunn(.

w) [-5; 2], p) (-1; 4], q) [0;7), n) (3,15 9):
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67.

68.

69.

70.

71.

72.

73.

74.

75.

y=a nmhnp pw@h® Yhwnnd b hwomd y =[x pmGyghuwjh
qpuippyp, tpt.
w) a=273, p) a=-3, q) a=0, n) a=>52:
Ghw twpynp, np y =|x $mbyghwjh gpudhip hwdw;suh t.
w) y-Gtph wnwlgph Guwndwdp,

p) x-tph wnwlgph Guwmdwyp,

q) YynnpnhGuwmGtph uygqplGuytimp Gumdwdp:
Muunjuln®y GG wpynp htwmlgwyp pytpp y=x" pmblyghwjh

npn)uw 0 mhnpniyphd.

Lll) 67 p) _83 Q) 09 I}) _193:
Muunjuln”d GG wprynp htwmlgwy pytpp y=x" pnlGlyghwjh
wndtpGtnph pwqinipjulp.

w) 8, p) -8, Q) 0, n) 27:

Bh°w L wpynp, np y=x" dnillghwjh qpuphyp hwdwswih t.
w) x-tiph wnwgph Gwwndiwdp,

p) YnnpphGuwwnGtph uygplGuwybnh Giumiwdp,
q) y-Gbiph wnwlgph Guwundwip:

Muwuwin™d GG wpynp htwnlywyp pytpp y:l dniGlghwjh
X

npn2dwl mhnpnyphG.
lll) 9>5> p) _2>7> Q) 0:

Muwuuwin™yd GG wpnnp htwnlyw) pybpp y = ! dniGlghwjh
X
wndtpGtnph pwqinipjulp.
1
lll) 5> p) 59 C}) Oa 11) 7.

. k
Gph"w L wpyynp, np y=7 (k#0) Ppmlyghwjh qpudhyp

hwdwwth k.
w) y-Gtph wnwlgph GHuwmdwdp,

p) YnnpphGuwwnGtph uygplGuwlybnh Giumiwdp,
q) x-tph wnwlgph Guwndwp:

k -h n"p wpdtpGtph nbypnid  y = K bniGyghw YihGp.
X

w) wann, p) Gwqnn:
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§8. AnponnmpmGGtp pniGlyghwlbtph htin

Uwhdw(lmud: Spyuwo y= f(x) L y=g(x) pmbGyghwbtph gniiwn
(nmwpptipnipynil) wijwlnd GG wyG F(x) $nmGyghwl, npp npnpgwo
t D(F)=D(f)nD(g) puqimpjul dnw L F(x)=f(x)+g(x)
(F(x)=f(x)—g(x)):

Uwhdwlmd: Spjwo y=f(x) L y=g(x) PpmbGyghwltph
wnpununpuw] wijwimd G0 wyla F(x) dnGlyghw, npp npndwo k
D(F)=D(f) N D(g) puqunipjul ypw b F(x) = f(x)- g(x):

Uwhidw(lmd: SpJuo y = f(x) L y = g(x) pmbGyghwltph pwlnpn
wijulimdi Gt wylG F(x) PImGyghwG, npp npnpud  k

D(f) A {D(g): g(x) # 0} puaqumpyut ypu L F(x)= g o

Uwhdwlmd: Spjwo y=f(x) L y=g(x) PpmbGyghwltph
hwdwnpnyp (Yndwynghghw) wijwlnd GG wyl F(x) pnlGlyghwd,
npp npnyuwo £ wjl  x-Gph pwqimpjul Jpw  D(g)-hg, np
gx)e D(f) L F(x)= f(g(x)):

Uju nbypnid wund GG, np F-p pupn pnmblyghw t:

Ui np F(x)-p f(x) L g(x) ImlyghwGtnh hwdiwnpnypl k
gnynud £ Gwl wyjuybiu. F(x)=fog: f(x) L g(x) InllyghwbGhpp
Juwpnn GG hwdwnpyby Gwl wy Yepy' go f:

Gpt f(x) L g(x) PmGyghwltpp mpwo GG wpunwhwj-
nnmpjnGitpny, www fog hwdiwnpnyph wpumwhwjnnipjnlp
unwlwmnt hwdwp wtnmp £ f(x) pnGyghwyh wpnmwhwymmpjub
uti9 x-h thnfjuwpbtb mtnunnpty g(x)-h wpnmwhwjmnip niln:

dnmGyghwltph  gnuiwph, wwppbpmpjul  wpuownpywih,
pwinpnh Jwd hwdwnpnyph npnpdwl nhpnypp quGhint hwdwn
wtmp L qpty hwiwwywunwufuwl  pwGwdlp, wnuwlg
dLwthnfunmpymGGtn Juwumwpbint qu by unwgyuo
wpunwhwjnnipjul OUL-n, wyw Gnp dhwjl Juumwnpb] hGupwynnp
GlwthnfumpmGGLpp:

OppGwly 1. QuwGhGp f(x)=(x+3) | g(x) =ﬁ

IniGlighwGbph wnunwnpjuih npn2dw 0 wmhpniyplh nt
wnpunwhwjmnipnlnp:
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UniGbGwGp F(x)= f(x)- g(x)=(x+3) XLH: NiptuG

D(F) =(—00;—=3)U(=3;+): JLuthnfutiinyg qnyuo
wpunwhwjnnipnilp’ YmbGhGubp F(x)=2x+6:

OppGwy 2. QuGhGp f(x)=(x+1) L g(x)= %
X+
dmbGlyghwGtph f(g(x)) L  g(f(x)) hwiwnpnyplbph npnydwh
mhpnypGbnt n wpmwhwjmnmpnGatpp:

MiGtGp f(gx)= ( ! 5 + 1) : NuiptiG D(f(g(x)))=

X+
= (—00;—2) U (—2;+): uuihnfutiiny gqpywo wpumwhwjmnipnlp
ymGbGuép f(g(x)) =(x+3 J :
x+2
Uy g(f())= - bl D(g(f ()= (~eo; +20):
(x+1)" +2
JLuwthnjutiiny qnyuo wnpunwhwjmnipjnln’ yniGLGuGp
(f)=———
§ X +2x43
Obnpbd: Udnn  (GJuqgnn)  $nGyghwltph qmuiwpp  wdénn
(Gugnn) $nmGyghw t, Gph Gpw npnpdwl whpniypn
wuwnniwlnmu £ gnGt Gpynt phy:

Uwuwgnigmd: Glpwnptlp F(x)= f(x)+g(x), npnbn f(x)-p b
g(x)-n wdénn pniGyghwtin ta:

Gpt x-n L x,-p (x, >x,) wiwjwlwl tpym pytip GG D(F)-hg,
wyw f(x)-pn b g(x)-p npnpywo GG wyn Yhnbpnid, huy

F(x)=F(x,)=f(x)+gx)-(f(x)+g(x,)=
=[f(x)— f)l+[g(x)—g(x,)]:

Lwlhnp x, >x, huy f(x)-n b g(x)-p wdnn pnGyghwbtn GG,
wyw [f(x)—f(x)]>0, [g(x,)—g(x,)]>0: MiptiG
F(x)—F(x,)>0, qwinp GnyGG L F(x)>F(x,):

‘Unyy G Yopy Jupbih B wuygugnigtp hwiwywumwufuwl pinpbdp
Gyugnn pmGyghwbtinh hwdiwnp:

39



OtnpLy: Udnn (GJugnn) dnmlyghwltph hwdwnpnypp wdng
(GJugnn) $niGyghw k, Gpt Gpuw npnpuwl wmhpnypp yupniGwynd k
gnGb Gpym phy:

Uwuwgnmgmy: Glpunptlp F(x)= f(g(x)), npmbn  f(x)-p L
g(x)-n wdnn pnbGyghwblp LG:

Gpt x, L x, (x,>x,) Juwiwywlwb tpynt pytip GG  D(F)-hg,
wyw g(x) pnilyghwl npnyguo £ wyn pytiph hwdwp, huy f(x)
PniGyghwl npnpgwo t g(x,) L g(x,) pytip hwdwn: 8niyg mwlp, np
F(g(x))> f(g(x,)):

Lwlh np x >x,, hul gx)-p wdénn dPnllghw L, wwuw
g(x)>g(x,): Lwlhnp g(x)>g(x,), hul f(x)-p wann pmbyghw k,
www f(g(x,))> f(g(x,)): Miptdl F(x,)> F(x,):

‘LnyyG Ytpy Juptih £ uwyugmgl hwdwywunmwupuwb ptinptidp
GJwqnn pnGlyghwGtph hwdwn:

UnwownpubpGtp

76. Qnbt’p f(x) L g(x) $mGyghwbtph qnuiwp, mwppbpmpniG
Juwd wpunwnpjw) hwlnhuwgnn $niGlyghwjh npnpdwl wmhpniyypn
tipt.

w) D(f)=[-3;2], D(g)=[0;7],
p) D(f)=(=L5], D(g)=(40),
q) D(f)=[3:8),  D(g)=(-2;3]:
77. F(x) :&: Qut’p D(F)-p, tipt.
g(x)
w) D(f)=[-45], D(g)=[-3;7], huy g(x) =0 dhwyl tpp x=1,
p) D(f)=[-2;2], D(g)=I[2;4),huy g(x)=0 bpp x=2:

78. f(x)=3x-1, g(x)=2x"—-3x+35, h(x):g, qJ(x):‘x‘
X

dmGlyghwlGbph hwdwp qptyp F(x) ImGyghwih pwlwdlp L
qu (b npndw b mhpnypn, tiph.

w) F(x)=f(f(x), mF@=hrfx), bLFx=¢(gx),

p) Fx)=h(gx), BWFX)=ghkx), pFx)=g(@x),

q) F(x)=h(h(x)), PFx)=f(gKx), pIFx)=f(h(x):
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79. Spywo  PpnmbGyghwl Gtplwjywglty tpynt  pmGyghwGtph
hwdwnpniyph mtiupny.

4 . ;
w) y=—-—, q)y=2x -7, b)y=(x+3),
x+2

p) y=@x-1)°"-2, 1) y=[Tx+2, Q) y=5x—4:

§9. dnillghwjh qpuphyh dLwthnfumpmGGtp

Gpti hwynbh £ y=f(x) dmbGyghwjh qpuphyp, wuww hs-np
dLwthnfumpmGGtnh oqlnipjwdp Jwnpbh £ junmgb] wnwyt) pwnpng
dniGlguGtph qpuphlyGtip:

1. y=f(x)+a  PImGyghwjh qpudbhyp Yunonmghin  hwdwp

wlhpwdtpw &y = f(x) nilyghwjh qpudhyp y-Gtiph wowlgph
ninnipjulip a-ny mbnupwnpdty:

hor 8 -

v=lfahkd A —T
/

Ul. 39

2. y=f(x+b) PImbGyghwjh qpudbhyp Yuwnmgblnt hwdwp

wlhpwdtpm b y=f(x) $mGyghwih gqpudhyp x-tph wnwlgph
ninnnipjuip —bH-ny mbinupwndt:
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3. y=f(=x) b y=f(x) Imbyghwbtnh qpuphlGtipp hwdwswih th
y-Gtph wnwGgph Guwmdwip:
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4. y=-f(x) L y=f(x) ImbGyghwbtph qpuphyltipp hwdwswih th
x -tph wnwGgph Guwundwip:
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5. y=f(kx) dmGyghwjh qpudhlyn, Junnmgtint hwdwp wlihpwdtynm L

y = f(x) pnyghwjh qpuphyp
x-tiph wnw(gph Gpywjlpny ntiyh y-Gtph wnwlgpp & wiquud
«ubinibypy, tipt k> 1

b % wlquui «4dqhp», htinwgltny y-Giph wnwlgphg, bph

O<k<lI:
}'Jk
f/‘x\ AN £l
V=7 =d YT
AN 12 \ f/’
N\l A1
/" .-; ‘
»
0 LN 1! X
Ry ST PV S B FRTT
Ul. 43

6. y=Af(x) dniGlyghwjh qpudhyp, yunnigtiint hwiwp wihpwdt)wu L

y=f(x) dmbyghwjh qpuphyp
y-Gtph wnwGgph tpyuwjlpny A wlquui «4dqhp», hbnwglbny
x-tph wnwlgphg, pt A>1
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L % wlquu «utinutip niyh x-tiph wnwgpp, tpt 0<A<I:

Ly =+ 2[f (%)

L
Y
|
-
-r.-""-'\
L
I, -

XN
\
o
T=F
o
E 3

s =
‘..I""l-.._‘_ T

=

=

o
b=

L. 44
7. y=f(a) $mbyghwjh qpuwphyp, Junmghint hwiwp whwp b ng
pwgwuwlwl x-tph hwdwp Junonmghy  y=f(x) dnllghwjh
qnudbhlp, hull pwguuwwl x-tphG hwiwwywwunwufuwlng dwunp
unwlw) GpwGhg' y-Giph wnwlgph Guwwmdwdp Gpuw hwdwswhp
Juwnmgtiny:

}' F
;f_;:]x,l L
N /)
\ A
[l R ] :
'":\= Alx
Ul. 45

8. y=|f(»| $mbyghwjh qpudbhyp, Yunmghne hundwp whwp b
ytngGhy y = f(x) $mGyghwjh gqpudhyh wjl dwup, npp qualynid k
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x-tiph wnwgph Yypw b GpwGhg dbtp, huy x-tph wnwbgphg Ghppl
qunOynn Jdwup y-Gbph wnwlGgph Guundwdp hwdwswh
wnunwwwwmytnty:

Ul. 46

UnwownpubpGtip

80. Quuithnjubtiny y =x" $mGyghwjh qpudhlyp’ Jurnigh’p htinljyug

pnilyghwatiph qpupplGtpp.
Lu)y=‘2x2—x+3, q)yz‘x2—6x—7

, h)y=x2—5‘x‘+6,

p) y=x"+4x+12, 1) y=[2x—x*+8, q) y=—x"+7]x-10:
1 ,

81. Quwthnfutiiny y =— pnmbGyghwjh qpubhyp’ unngh’'p htimljuy
X

P$niGyghwbtnh qpubhytipn.

1 1 4x+3 1 1
lll)y=——, q)y=—, h)y: ) I:) Y= P) Y=
X x—1 x—1 ‘x ‘x

5 2 x+4 X x| +2
P)y:—, I})y:—, q)y= ,n)y=—, d)y=H :

X x+3 3—x x—1 3—|x]

82. Quuithnfubny y =[x $mlGyghwjh qpudbhyp’ Yunnigh’p htinlyuy
Ppnilyghwatiph qpuphlGtipp.
w)y=-x, q) y=-3x, &y=[x-3

p)y=2, n)y=8-4x, qy=3x+l

, k) y=[1x-3+2,
1)) y:Hx+2‘—4‘:
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83. Gwpuwyn’p E wprynp ybpwyulelty  y= f(x) $mlyghwjh
qpnuwdhyp.
w) nuu y = f(=x) $nilyghwjh qpudbhyp,
p) puw y = f(x) pnilyghwh qpuphlh,
q) pun y =3f(x) pmlyghwjih qpubhyh,
1) pun y =|f (x)| pmlyghwjh gpuphyh:

§10. AGwywl gmghsyny wunmhdwlwjhl $nmGyghw

Uwhidwlmy: y=x" dnlGlyghwl, npntin n-p pGwyub phy L,
wijwuwlmy GG pdwlul gnighsny wunhowbuwihl pnilGhghu:

y=x, y=x" L y=x" wunmhdwlujhG $PpmGyghwltpp dkGp
wnpntl  nwndGuwupptyp GGp: “pwlg hwwmympmGGbpp L
gqnudbhlyGtpp dtq hwymGh ta:

Ujdd  wuwmhdwlwjhG  $PnlGlyghwh  hwwmlympmGotnG m
qnudbhyh wnw(dGwhwmynipniGGhpp wwngtlp, tipp
wumhdwlwgnmghyp' n-p tpbiphg dGo pGuwlwG phy E:

Lwlh np x" wpmwhwjmnpnilp, npntn z#-p pGwuG phy E,
hdwuwm nbGh guwiGugwo x-h nhiypnid, wyw pniGlyghwjh npnpdwd
whpnijpp D(y) = (—e0;+00):

UlGwgwo hwnmynmpymGGtpp Gipluywgibnt hwdwnp n-h qniyq L
Yyt wpdtplbpp nhnwnpytlp wnwGdhd:

Ulqpnud nhinwipltilp wyl ntiwpp, tpp 7-p qnyq phy L

y=x" pnllghwjh hwnmympjnGGtpp qniyq n-h nghypnd Giw
LG y=x" $niGlyghwjh hwmlympniGGtphG.

1. pniGyghwh npnpdwl whpngpp’ D(y) = (—e0;+ ),

2. pmGyghuwyh wpdtpltiph pwqinipymbp E(y) =[0;+ ),

3. pnGyghw G nGh vty gpn” x =0-G,

4. pniGlyghwG qnyq L,

5. pmlyghwbG GJugqmi E (—e0;0] dhowljwjpnid L wdému L

[0;+c0) dhowljwjpmd,

6. pniGyghwjh thnppwqniyG wnpdtpp hwjwuwp £ gpnjh, npG

nnniGnd £ x =0 Yhnmd, hul) vhowqgniyG wpdbip sniGh:

Uwywgmgtlp 5-pnp hwnympjmin:

Glpwnntlp x,>x =20: Gpt x =0, wyw wllGhwym L, np
x, >x': bulj tpti x, >0, wyw wlinwy wp winwld puqiuwwwunlting
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x, >x, wlihwjwuwnpnudGbpp, Junwbwlp x; >x': liptdG [0;+ o)
vhowuwypnid niGyghwl wdnd t:

A AT T L]

R i
] X ‘;'.1 l| I =
|

I\

L. 47

<hiw tGpwnptilp x, <x, <0: Uyn niypnd —x, >—x, 20 L pun
Jhpp wywgmgwoh' (—x,)" > (—x,)": Lwzyh wnlbiny, np 7-p qouyg L,
niGtGwlp x, >x': MpdlG  (—o0;0] dhowlwjpnmd $nilGlghwl
Guqnuu L:

L0Gwnpyblp n-h L m-h hpwphg wnwpptpn qniyq wpdbpltiph
nliypnd y=x" L y=x" pnilhghwltiph qpudplltiph thnfunuuw-
UnpnipjniGp:

Ujn  qpudhyltipp hwndmd GG (-1;1), (0;0) L (1;1)
UnnpnhGuwnOtp nGbhgnn Yhntpnmd: Gpbh m>n, wyw  x" <x", Gpp
xe(0;1) L x">x", tpp xe (I;4+0): Lwlh np (—x)" =x", wyw
x"<x", tipp xe (=1;0) L x" > x", tipp x€ (—oo;—1):

Ujdd nphunwpytlp y=x" $mbGygwl, tpp n-p YuGun E: Tju
nhypnmd  $niGyghwyp  hwwmympymbGatpp  GdwG GG y=x
IniGlghwjh hwnynipniGGtphG.

1. pnilyghwjh npnpdwl mhpnypp™ D(y) = (—o0;+00),

2. pmGyghwyh wpdtipltiph puqinipynilp’ E(y) = (—eo;+0),

3. pmGYyghwl mGh d&Y gpn” x =0-G,

4. pniGyghwG ytGwn E,

5. pnGlyghw G wénn k:

Uywgmgtlp 5-pn hwnympjniGn:

[0;+00) vhowlwypnid mGlyghwjh wdbhm wwwgniygn Gnyyl k

hGs np qnijq gnighyny wumhdwlwjht pniGlghwjh niypnid:
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Uyuwgmgtilp, np pnmlGlyghwlG wdnmyd bt (—e0;0] dhowujpnud:
Glpunptip x, <x <0: UWn phypmd —x, >—-x, 20, L pwlh np
[0;+00) thowlwypnid $niGyghwyh wémd b, wyu (- x,) > (=x,)":
Utilm  n-tph  hwdwp  JtpohGu hwdwpdtp L —x) >-—x'-hG:
Lbtunmlwpwp x; < x':

buy tpti x, <0, x, >0, wyw wunpq E, np x; <x':

Ujuyhuny, $nbGyghwl wénn k:

L00wnyblp n-hp L m-h hpwphg wnmwppbp Jtln wpdtpltinh
nwypnud y=x" L y=x" pmlyghwbtph qpuphlGtiph thnfunwuw-
Unpnipjnilp:

U;n  qpudhylbpp hwwnymd GG (-1;-1), 0;0) L (1;1)
UynnpphGuwwmObp niGtgnn Yombpmd: Gpbh m>n, wyuw  x" <x", tpp
xe(0;1) L x">x", tpp xe€ (I;+0): Lwlh np (—x)"=—x", wyw
x"<x", tipp x€ (—oo;—1) L x" > x", tipp xe (-1;0):

UnwownpuwGplhtin

84. Quuhnfutyny y=x" $mGyghwjh qpudhyp’ unmght’'p htimbjug
pmyghwbtiph qpuppyltipp.

w)y = (x-3)', Q)y=-3(x+5) . )y =|(x-3)
P y=(xd-2), my=[2x+5" -1, qy=[-(x-2)"+1:

b
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85. dmGyghwl mpJwo t f(x)=x" pwlwdlny: <wibdwwnmbp.

w) f(37) b f(4.2), Q) f=T) L f(6),
p) f(=5.2) L f(=6.)5), ) fG7) L f(=29):
86. dniGyghwl mpjwo k g(x)=x" pwlGwdlny: Qwitiwwnb’p.
w)g@B9) L g(7.6), q) g(=10) L g(7),
p) g(=4,6) L g(=5.5), ) g(=63) L g(63):

87. Upt'p wpgmuitGwh Wh nplulk wpdtp, npp nhypmd  y=x°
$niGyghwjh wpdbpl wytih dto t, pwa 2°, 10°, 107, 10™:

88. Upt’p wpgnuitGumph dh nplk wpdtp, nph phypmd y=x’
$niGyghwjh wpdbpl wytih thnpp t, pwG —3°, —10°, —10*:

89. Qwitiwwntp.

w) 3° L 3%, Q) (-2,3)" L (-2,3)°, ) AQ,D" L 1,7)*,

p) 0,3° L 0,3*, 1) (_%j” L (—%jm, q)(0,23)" L (0,23)°:
90. Qwibiwwnb’p.

w) 27 L 27, qQ (47" L (-4,7)", hu) (36" L 3,6,

p) 027 L 02°, 1) (—gjm L (—%) Q0,157 L 0,15

§11. Lwyjununpd pniGlyghw

bGswbtu qhntp pnmGlyghwih npn)dwl mhpnyph jnipupwbysnin
pyh hwdwwywunmwuppwlnd £ wpdtpltiph pwuqinipjul dhwjl dby
phy: Pwjg udhpwm sk, np wpdtpGtph pwqimpjuwl wditlG dh phy
npndwl mhpnyph dhwj0 dty pyh L hwdiwywmwujuwlnig:

Uwhdwlinid: dnGyghwG, nph wpdbtpltph puqimpjub wdki vh
phy npnpdwl wmphpnyph dhpwm vty pyh [ hwiwwywumwufuwlnid
(wyuhlplG 6tph x #x,, www f(x)# f(x,)), widuwlimd &G
thnfudhwpdbp pnillghu:

Gpti y=/f() Pmbyghwl thnfushwpdtp E, www E(y)-h
guljugwod y, junh hwiwywunwuuwlnw £t D(y)-h dhwjG dby x,

Y, wylwhuhG np  f(x)=y,: <bwbwpwp, nghowpybng  x-h
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wjnhuh  Jwppjwonmpnilp y-hg, dklp ymGtGwlp dh Gnp
dnGyghw, npp npnpdwo £ E(y)-h Jpw (GY. 49):

Un pmbGyghwl wijulmd 6 [ PmGyghwyh hwlunupd
dnGyghw: [ PpmbGyghwjh hwlwnupd dInmGyghwlG hwdwlu
Gpuwlwynmd GG £ -ny:

Uwhdwlnd: ¢ dIdmGlyghwl wlijwlinmy GG D puwquinipjul Jypw
nppywo f pmlGyghwjh Awfuwnuwnpd pniGlhghw, tipt wjl npnpwo L
f pmbGyghwjh wpdtipGiph £ pwqinipjub ypw b D pwuqinmpjul
guljugwo x-h hwiwnp @(f(x)) = x:

Gpt  bmlGyghwlG mGh hwlwnqupd, wil wiwlimd GG
hwlwnuwndbh:

Gpti ¢ Pmlyghwl f PmGyghwyh hwjunupdé pnlGlyghw b,
www f - pmbyghwG hp htpphlG ¢  PpmGyghwjh hwlwnupa
PniGyghwG E: Uund GG, np f L @ pnGyghwGlipp thnjuhwjunupé
tG:

L. 49

Npuwbtugh $nGyghwb jhGh thnfudhwpdbp wlhpwdbiym L L
pwjwnpuwn, np x-tph wnwlgphl gniquhtin guGljugwo ninhn wjn

IniGlyghwjh gnudbhyp hwwnh ny wyb pwb dhl Yomnid:

Llhwp 50-md wuwumytpjuo ta [a ;b] dhowlwjpmd npnpywo
dnGyghwGtph qpudhyltin: w)-mi Gipuyugdwo  pnGlyghwa
thnfudhwnpdtip t, huly p)-mu Gepywjugyuon’ ny:
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w) )
L. 50

GlGpwnptlp y=f(x) Pmlyghwl ‘thnjudthwpdtip LE: Uy
dniGyghwyh qpudbhyp  YnnpnhGwwnwghG  hwppnipjul - (x; f(x))
Jtnbtph pwqimpymGa t (GY. 51 w)): bul y=f"(x) pmGyghwjh
qnudhlp  YnnpnhGwwnwghl  hwppnipjuG  (f(x);x)  Ytwnbph
pwqimpniGl6 £ GPw GQuwlwynd £, np hwjwnwupd $niGlyghwjh
ghwdhlp  Yuwwgyp  wpfuo  pmbhghwyh  qpudppyhg
UnnpphGwwmwjhlG hwppmipjul wjlwhuh AdLlwihnfunipjudp, nph
ntypmui  x-tph L y-Gtph wnwlgpGtpp YthnfuwphGybG Jdbynp
djniuny:

Qpwl Juwpbh E hwull), ophGuwl, Gpt UnnpphGwwmwjhG
hwppnipntGG wpmwwwwmtiptip x-tiph wnwlgph Guumdwdp (GY.
51 p)), wyw unwgyuwo ywuumytpp dwdwgniygh upjwph hwjwnwy
nunmpjudp wyuwnblp 90°-nd (G4. 51 q)): CGymGJwd wmbuph
ptiptnt hwdwp d6md £ hnfubp x-h b y-h mbntpp ( GY. 51 n)):

o
/y=f<x)x TN\
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/ y=f7() /

Q) 1)
L. 51

Qwlwnwpd pmbyghwih gpuphyp Jupnng bp vnwlw) Gwb y = x
niqnh  Guwdwdp wupuo  pniGyghwjh  qpudbhyh  hwdwswihp

Junnigbny (GY. 52):
V4
v/l / pAE

Ul 52

Unwlg wwwgmgiwl O0bpjwjugltlp dh pwlh phnpbd
InGlyghwih  hwlwnupdtihmpjult L hwlwnupd  pmbGyghwjh
hwwunnipjniGGtph dwuhpG:

1. D puqimpjul ypw npnpgwo pniliyghwl hwlwnunpdbh L
vhwjG w)G nhypnd, Gpp w)G hnfushwpdtip £ wjn puqinipjul ypw:

2. 3nipwpwlynip dnGnnnG pnGyghw hwjunupdtih t:

3. Gpt pmGyghwl waénn (GJuqagnn) £, wyw Gpuw  hwljwnupd
$niGyghw b Lu wann (GJugnn) k:

4. dnilyghwjh L Gpw hwlwnupd pniGlhghwyh qpudbhylbpp
hwdwswih GG y =x nmqnh Gumdwdp:
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£ pmGyghwih hwjunupd pmGyghwl qunGtint hwiwp ytwp k.

w) y=f(x) hwjwuwpnudhg qubhy x-p (npp whwp b 1hGh
dhwipn $niGyghwjh npnpdwl wmhpnypnid, hwjwnwl nbwypnid
PIniGlyghwl hwljuwnwunpd sniGh),

p) vnwgywo pwlwdlnud thnfuty x-h L y-h mtintpn:

Qhnwnpltlp vh pwlh ophGuwly:

OphGwy 1. Quwlklp y=3x-2 Pmlyghwyh hwluwnupd
InGlyghw(:

bGywbtu qhwmbtlp wju dInilyghwl wionn L wdpnne npnpdwl
whpnypnid (kK>0): MiptdG wjG hwunupétih B2 y=3x-2
hwjwuwpniihg qunGtlp x-n. x:yT—'_z: Ujdd thnjutiip x-h L y-h

wmbnbpp. y = x;rz ;

OppGuy 2. QwnGhbp y=x" $mbGyghwjh hwjunupd pniGyghwa:

Uju pniGyghwl thnfuthwpdtp $niGyghw st: {<bmbwpwp wyG
snih hwununpad: Puyg wyl GJugqnid £ (—e0;0] dhowlwjpnid L
wénd £ [0;+0)  dhowlyuwypnui: Uju  dhowlwyptiphg jmipuw-
pwlsjmpnd wnwGahG nhunwpybny y=x" $nlGlighwb’ YynGLGwbp
hwluwnunpdbh $niGlyghwbbn:

y=x’, x€(-0;0] Pmilyghwjh npnpdwl whpniypp (—eo;0]
uhouljuypG E, pul wpdtplGtph whpnyypp’ [0;+0) dhowljuypp:
Ltumlwpwn Gpuw hwywnupd pniGyghwjh npnpdwl wmhpnypp YihGh
[0;+ e0) dhowlwypp, hulj wpdtpltiph whpniypp (—e0;0] dhowjuypp:
y =x* hwjwuwpnuihg qunGhlp x-p. x= i\/§ : Lwlh np x-p whwp L
wywwunluwlh (—ee;0] dhowlwjphl, wwyw YtipngGtlp x = —\/§ : UGnud E
thnfutii x-h L y-h wmbnbpp. y=—+vx: buy tipt y=x" pmbGyghw
nhunwpyymu £ [0;4 o) dhowlwjpnid, wyw Gpw hwwnunpd YihGh
y=+x pnilyghw(:

OpphGuy 3. QuGtlp y=x’ $nilGyghwjh hwjununpd pniGlyghwd:

bGywytu qhwmblp wju Imllyghwl wénn E wipnn9 npnpiwd
wmhpnypnid: MiphdG wjl hwunupdbh B y=x" hwjwuwpnuihg
quilitilp x-p. x=3/y: Wds thnfukip x-h L y-h whnbpp. y=¥x:

53



OpphGwy 4. QuGhklGp y=x"—-4x-3, x€[2;+) PnilGlghwjh
hwlwnund pnlGyghwl L junmghbp Gpuw gpudhyn:

Quuihnfuting  x* —4x-3 wpnwhwjnmpnibp’ YniGhGuGp.
y=(x—2)"=7: Gpb x€& (—eo;+00), www wyy pniliyghwjh gpudhyp
(2;=7) Y ququip nilGtignn L §ynintipp ybp mnnjwo wwpwpn k&
(GY. 53): [2;4+) vhowlhwypmd $nlGyghwl wdénmd E L Gpw
wndbpltinh wmhpnypl £ [-7;40) dhowlwjpp: Miptdl wjG mGh
hwjwnuwpd, b hwjunupéd $niGyghwl npnpyuo £ [—7;+0) thow-
Yuypnud, hul wpdtpGtph mhpnypn [25+0) dhowlw)pG t:

y=x"—4x—3 hwjwuwpnihg qunGhlp x-p. x’—4x-3-y=0
o x=2x7+y: <wpyh wnltny, np x-p whwp £ wuwmlwbh
[2;4+00) dhowlwjphG YynmiGtGwlp. x=2+./7+y: Ulmu L thnjuby
x-h L y-hwmtntipp. y=2++/7+x:
MRZ
!
|
B i 1

1
\

|

[y 1)

b 4

=t "]

=7

Ll 53

UnwownpuwGpltin

91. o(x) PmGyghwG f(x) pmGyghwjh hwljwnupd pnilGyghwi t:
Qut’p D(p) L E(@), tph.
w) D(f)=(=2;3), E(f)=(14),
P) D(f)=(—o0;+00), E(f)=(0;+00),
@) D(f)=[0;+), E(f)=[-2;+20),
) D(f)=(—oo;5], E(f)=(0;3]:

54



92. o(x) PmbGyghwl f(x) PmGyghwjh hwljwnupd pnilGlyghwb t:
Qut’p  @(-4)-p, @(0)-G, ¢(5)-p, tipt hwywnbh E, np f(-6)=0,
f)=-4, f(2,3)=5:

93. ©h”w L wpnynp, np niGlyghwjh b Gpuw hwjunupd $niGlyghwjh
qnudbhyltbpp hwdiwswh Ga.

w) y-Gtph wnwGgph Guwmdwyp,

p) x-tph wnwlgph Guwdwyp,
q) y=x ninnh Guwndwip,
1) YnnpnhGuwnGtph uyqplGuytimp Gumdiwdp:
94. Qnt’p mpjwd $niGyghwbtiph hwjunupd $niGlyghwd.

w) y=T7x+3, n) y=|x, xe (—o;0],
p)y=z, L) y=x"—6, xe[0;+)
X
3 ,
Q) y=—-, qQ) y=x —8x—1, xe (—=;4]:
x+2

§12. y =4x pmGyghwa

blywytu nmtivwlp Gwunpn Wwpuwgpubnid y:\/; dmGlyghw
y=x" $nGlhghwjh hwlunupdl bt [0;+e) dhowluypmi: Ujn
dIniGyghwjh qnudbhln wuwwmlybtpyuo £ Giup 54-nud:

“'J

LY. 54
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y= Jx PmGyghwjh hwwmynpmGatipp htnlmd GG y=x’
dnGyghwjh (x€[0;4+o)) hwwnmimpynilGlGtiphg L hwlwnupd
dIniGlghwjh dwuhb pinptdiGbphg: OJunpyblp npuip:

1. pnilyghwjh npnzdwl mhpnypp D(y) =[0;+ o),

2. pniGyghwjh wpdtipltph puqimpymbp’ E(y) =[0;+e0),

3. pnGyghw G nGh vty gpn” x =0-G,

4. pnmGyghwG wdénn t:

‘Lwjunpn Wwpwgpubnd yupqybg Gk np y = Vx dnllghw
y=x" pmlyghwjh hwhwnwpdG t: Um pmbyghwih gqnudhyp
wwwlybpywo E Gyup S5-nud:

\Th

AL

i

Ll 55

y= Vx $mGyghwjh hwwmynpmGitipp htnlmd GG y=x’
PniGyghwjh hwwmynipymGltphg L hwjunupd pnGyghwjh dwuhl
ptnptiuGtphg: OJunpyblp npwip:

1. pniGyghwyh npnzdwl whpniypp’ D(y) = (—o0;+ ),

2. pmGyghwyh wpdtipltiph puqinipjnilip’ E(y) = (—oo;+ o),

3. pnGyghw G nGh vty gpn” x =0-G,

4. pnmGyghwG wdénn t:

y= "Jx IniGyghwih hwwnmynipymGGtpp qniyq #-h nhypnid Gdwa
Ll y= Jx dniGyghwjh hwnmynipnGGtphG, huy Ytlun 7 -h nghypnid

Giwl &G y= Vx PniGyghwjh hwwnynipniGGtphG (ntu GY. 56-57):
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11 = 3!(: gl — 34
T
- _#__d____..--“" >
YEVES =
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0 X
Lly. 56 Ll 57

QhnnnmpjniG: Lwlh np pgpulwl YnunnpwlwjhlG gnighsynyg
wumhdwll pywunm niGh dhwjl ny pwguuwluwl hhdph nhwypnid,

www y=x" pnlyghwl npnpgwo £ shwjl ny puguuwlub x-tph

hwdwp: buy wmuhuh x-tph hwdwp x' =4x: Oipbd6  y=x"

PniGyghw qniyjq 7-h niypnd GnyyGG E hGy np y = \Jx dnGlyghw:
Pwjg Yl n-h ghypmyd y=x" $mGlyghwl mwppbpgmy L

y=4x  Pmlyghwjhg L Gpw htwn hwdpGyGmd t Shuyl ng
pugwuwlwl  x-tph nhiypnud:

UnwownpuwGpGhtin

95. Quuthnfubiny  y=4x $mlyghwjh qpuphyp’ Yunmgh'p
htimlywy nGyghwGtinh qpudbhybtipp.

w)y =2V, q)y=—§%, By=vi-l, by=y3r—4,

my=V-x, wy=Vx-5, Qy=i}f-1, py=K3x-1:
96. Giltny y=3x/; $niGlyghwjh dnGnunnGmipjniGhg’ qGuwhwwnt’p

Vx wnunwhwjnnipjul wpdtip, tpt.
w)l<x<8, p)-1<x<I1, q)—27<x<0:
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97. Giltny y:“\/; $niGyghwjh dnGnunGnipjniGhg’ qGuwhwwnt’p
Ux wpunwhwjnnipjul wpdtip, tph.

w)0<x<1, pl<x<8l, q)256 < x <625:
98. G-untip pniGyghwjh npnpiwl mhpnyypp.
2+x 3
w)y=+2x—-1, = , L)y=(4-3x)°,
)y =+ Q) y Tris )y =( )
X 1
)y =33x+1, )y = , Yy =(x*—4x+3)°:

§13. GnwGymbGwswhwlwl $nlGlyghwbbtp

1. dnGlyghwjh wwppbpwlwlmpyniln

Uwhdwlmy: y=f(x) dnmlyghwl wijwlnd GG wwppbnuw-
Jud, tpt qnympinilG niGh wjGuhuh 7 #0 phy, np wyn nGyghwjh
nnn2dwl mhpnyph gwijugwo x pyh hwdwp

1) xxTe D(f),

2) f(x+T)=f(x):

Unwpuph 77 phyl  wljwlnud GG y=f(x) dmbyghwjh
wwpptpnmpni:

Uwhdw(lmy: NMwuppbpuub $niGyghwh thnppwgniyyG ngpuiyub
wwppbpnipniG0 wjuwmy G0 ApdGwlwl yuppbpnipynil:

Gpt Pnilyghwjh hhiGwywl wwpptpmpymipn 7-6G6 £, wwyw
wunid GG, np pniGlyghw@ 7 - yuppbpuwlwd k:

Gpt pnmGyghwl 7- wuppbpwlwl £, wyw 7 hbnwdnpnipjuw
Jypw qulynn gubGiugwo tpynt Jhmbpmyd pnilGlghwjh wpdtpGbpp
hwdwuwp GG: iptda  7- yguppbpulw6 PmGlyghwih qpudhlyp
Juwnmgtint hwdwnp upnn GGp 7 Gpuwpnmpjwl npul hwnywoh Yypw
YJunmgty pmbyghwih quudbhyp, wyw vnwgyuo wwwytpp x-tph
wnuwlgpny Tk -ny (k€ Z) mtinuywnpdti:

2. y=sinx pnmllyghwjh hwwnynpmGGatpp.

1. $niGyghwjh npnpvwG whpnypp’ D(sin) = (—oo;+ o),
2. $niGyghwjh wpdbplliph puquinipniGp’ E(sin) = [— 1;1],
3. pmGlghwi Ythw t. Vxe (—oo;+ o0) : sin(— x)=—sin x,
4. pnmGyghwl 27 -yyuppbpuwyud t.
Vxe (—oo;+00): sin(27 + x)=sin x,
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5. pmGyghwjh gqpnGbpl 6 x =7k, ke Z Ytwmbpp,
6. sinx>0, Vxe 27k, +27k), ke Z,
7. sinx <0, Vxe (7 + 27 27 +27k), ke Z,

8. | — % + 27&;% + 27&}, ke Z Jdhowlwjptinhg jnpwpwl;jnipnid

E‘I)mﬁllghwﬁ widnud L,
9. §+ 27&;377[ + 27&}, ke Z dhowwjpbphg jnipwpwlysjnmpnid

P GlyghwG Gwqnid L,
10. PpniGyghwjh dtowqnyG wpdtipp 1-G L, npG plgoiGmd E

X = % + 27k, ke Z Yhwnmtipnuy,

11. pniGyghwjh thnppwgniyG wpdtipp —1-G t, npG pGnyniGnd L
x= —% + 27k, ke Z, jhntpnuy:

y=9inx 1
- 1z b 37
// 3?3‘ \\‘ 2 g i \ 2 //i
= 2r =~ —ﬁ\ p o T N 27
Ul. 58

3. y=cosx dnllghwjh hmnlympmGGtpp.

1. pmGyghwjh npnpyswl mhpnypp’ D(cos) = (—oo;+ o),

2. $niGyghwjh wpdbplliph puquinipniGp” E(cos)= [— 1;1],

3. pmhGlyghwi qnijq k. Vxe (—oo;+o0): cos(—x)=cosx,

4. pmGyghwi 27 -upupphipwljui . Vxe R: cos(27 + x)=cos x,
5.

. dniGyghwjh qpnGlp X=—+7K, ke monn,
$nGlghuygh quoétipG b6 72[7d<k Z Ytk

6. cosx >0, Vxe (—§+2ﬂk,§+2ﬂk} ke Z.
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7. cosx<0, Vxe (§+2ﬂk,3§+27d¢} ke Z.

8. [7z + 27027 + 27d<], ke Z Jhowlwjptiphg jnmpwpw(y;nipnid
dnGlyghwl wdmd L,

9. [2rk;m+27k], ke Z vhowlwjptphg Jnipuipw iy jnipnid
dnGlyghwl Guqmd L,

10. InmGyghwjh dbowgqgnyl wpdtipp 1-G E, npG plGnmGmd E
x =27k, ke Z Jhmbpnd,

11. pniGyghwjh thnppwqniyl wpdbpp —1-G £, npG plgniGmd k
X =7 +27mk, ke Z Jtmbtipnu:

VA

_}?:[‘ﬂq}’
|
INUENVdRNEIDgr
3% . 7 : T 4
— 2% _%R"x,_f = [.] - f_/’/f? 7
A A =1 A =

Ul. 59
4. y =tgx pmllyghwjh hwnlmpmGGtpn.

1. pmGyghwih npnpywl whpnypn (—§+7d€,§+ﬂkj; ke Z

vhowlwjptinh dhwynpnidG k,
2. pmGyghwh wpdtipGliph puqumpnip’ E(tg) = (—eo;+o0),
3. pmGyghwl Yhlwn k. Vxe D(tg): tg(—x)=—tgx,
4. pmGyghwi 7 -upupphipwljwi t. Vxe D(tg): tg(x + x)=tgx,
5. pniGyghwyh gqpnGtinG GG x =7k, k€ Z Ytwbpp,

6. tox>0, Vxe (ﬂk,§+7zf<} ke Z,

7. tgx<0, Vxe (—%Jkﬂk,ﬂkj, ke 7,
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8. (— % + 721(% + ﬂkj ke Z Jhowwjptphg jnipwpwlysnipnid

PIniGyghwl wanmu k:
| [ [
I I | |
/| INNi |
paneza /| | 2/
AR RV EEYE
N AN AR
SR EE
Ll 60

S. y =ctgx Ppnillghwjh hwmlynpmGGtpp.

1. dniGlyghwjh npnpuwi wmhnpniypn (e, 7w+ 7k), ke Z
vhowlwjptinh dhwynpnidG k,
2. $niGyghwjh wpdbpGliph puquinipniGp’ E(ctg) = (—oo;+ o),
3. pnilGlyghwG YtGw k. Vxe D(ctg): ctg(—x)=—ctgx,
4. pmGyghwl 7 -yyupptpwyud t.
Vxe D(ctg): ctg(m+x)=ctgx,

5. pmGlghwh qunitpG &G x = % 47k, ke Z Yhwmbpp,
6. ctgx >0,Vxe (ﬂk,§+7zk),k e’Z,

7. ctgx<0,Vxe (%4—%,754—%),/{6 Z,
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8. (nk,x+7k), ke Z thowlwjptiphg jnipuipw G nipnud
PdnGlyghw G Gugnid t:

[0 clex

[
I"f

siEfane ; seamsan :n. I e T
P

SN EE NI
\ \ \ \ T

L. 61
UnwownpubpGtp

99. Quuwihnputiing GnwlymGuyuhwluli PmGyghwlbph qpu-
bhyGpp” Yunmgh’p htnlywy dnilyghwlbph gpuphyGbpp.

w)y=sin2x, q)y=2sinx, h) y=cos5x,
p)y=3cos§, k) y=1g4x, 1)y=ctg37x,

q)y =2sin(x—§j, n)yzicos(x+%j, )y =tg(3x+1),

1)y =|sinx

, p) v =|cos x|, )y =|erex

cos(Sx + z)‘ :
6

ti) y =2 sin|2x]. d) y = cos|x. q)y:%_
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100. Qut’p PmGyghwgh hhiGwlwl wwpptpmpmiGn’ bGhny
I Glyghwjh qpubhyh dbwhnfuiwb ophGwswthnipnilhg.

w) y = sin3x, n)y=2sinx, L) y =cos5x,
X 3x
p)y=cos, t) y =1g4x, )y=cig—,

q)y =25in(x—§j, q)y=icos(x+%j, p)y=tg(Bx+1):

§14. Lwjunund tnwGyni Gusuhwul $nmbGlyghwbtn

1. y =arcsinx pmGyghwG
Uwhwlnud: a (o <1) pyh wpluhGniu b6 whjwGn [—gﬂ

hwwnywoh wjG phyp, nph upGniup hwjwuwn t a.

T T

) oe|——;—

arcsina = o & 272 |.
sina=a

y=arcsinx  pmGyghwl [— % ,%} dhowljwjpnd  y=sinx
dniGlyghwjh hwjwnupd mGlyghwd k:

y =arcsinx $pmGyghwjh hwnlmpjmGGtpn.

1. $niGyghwih npnpdwG mhpnypp' Dl(arcsin) = [-1;1],
T 7

$n1Gyghwjh wpdtpGhiph puqunpmbp’ E(arcsin) = [— 55} ,

Vae [-1; 1]: sin(arcsina)=a-
PnilyghwG Yl k. Vxe [— 1;1]: arcsin(—x) = —arcsin x,

dnGyghwjh qunG x=0-G L,
arcsinx >0, Vxe (0;1],

arcsinx <0, Vxe[-1;0),

Yae [—z;z}: arcsin(sin) = «,
2 2

© o NSTmKN N

$nGlyghwl wdnn k,
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10. pniGlyghwjh dtowqniG wpdtipp %-ﬁ L, npG pGyniGmu k
x =1 Jtnnmy,

11. pmGyghwjh thnppwagnijG wpdtpn —% -G &, np0 pGnniGma E
x =—1 jtumnud:

y = ardsiny

2. y=arccosx dpnmGyghwi

Uwhiwlmd: a (la<1) pyh wpyynuhlne 66 wiywlnud [0; 7]
hwwunywoh wja phyp, nph YnuhlGniup hwjwuwn t, a.
{a e [0;7]
arccosa =a & :
cosa=a
Yy =arccos x dmalyghw [0; 7z] dhowlwjpnid Y =COSX
dniGlyghwjh hwjwnupd nGlyghwd k:
y =arccosx dpniGyghwjh hwnlimpjmGGtpn.
1. $niGyghwjh npnydwl mhpnypp' D(arccos) = [— 1;1],
. $niGlyghwjh wpdbpGtph puqinipyniGp’  E(arccos) = [0;7[],
. Yae [-1; 1]: cos(arccosa)=a-

. pnGyghwjh qpnG x=1-G E,

2
3
4. Yae [-1; 1]: arccos(—a)= 7z —arccosa,
5
6. arccosx>0,Vxe [— 1;1),
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7. Yae |0;7]: arccos(cosar) = a-

8. pnlGyghwl GJugnn k,
9. pnyghwjh vtiowqni)G wpdtipp 7 -G &, npG pnniGnud £ x =—1

tunnud,
10. pmGyghwjh thnppwqniyyG wpdbpp 0-G £, npl plnmbGmy Lk
x =1 Ytnmu:
}' £
............... -

2
Y = arccos x >\

b 4

-] 0 1

Ul 63

3. y =arctgx pmGyghwi
Uwhdwlanf:  a pdh wpluwlqbbu b6 whjwlnd (-%%}

dhowlwjph wyG phyp, nph mwbqtlGup hwjwuwnp k. a.

tga=a
T T
y=arctgx  Pnllghwa (— 55) dhowljwjpnid y=1tgx

dniGlyghwjh hwjwnupd nGlyghw k:
y = arctgx dnilljghwjh hwnmlynmpjmGGatpp.

1. $niGyghwjh npnyswG whpnipp’ D(arctg) = (—oo;+ o),
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2. $niGyghwjh wpdtplph puqimpmbp’ E(arctg)= (— %;%j,
3. Vae (—o;+00): tglarctga)=a,

4. pnilGlghwG Ythwn £ Vxe (—oo;+o0): arctg (- x)=—arctgx,

5. pnmGyghwjh qpnG x=0-G L,

6. arctgx>0,Vxe (0,+ oo),

7. arctgx <0,Vxe (— oo,O),

8. Vae (—%;%j: arctg(tga)=a,

9. pnGyghwl wdnn t:

F v

e rfleras
LA

g
[

LY. 64
4. y =arcctgx pmGyghwG

Uwhbwlnmd: o pdh wpyynunwbobbu t6 wGuwGnus (0;7)
dhowlwjph wjG phyp, nph YnunwbqtiGup hwjwuwn k& a.

{a e (0;7)
arcctga = o & :
ctgax=a

y =arcctgx dmllyghwml (O;7z) dhowlwjpmd y =ctgx dnilljghwjh
hwljwnund pnGlyghwd t:
y =arcctgx pnilyghwjh hwnlynipjniGGhpp.

1. $niGyghwyh npnpvwG whpnuypp’ D(arcctg )= (—oo;+ o),

2. $niGyghwjh wpdbpllph puqinipniGp” E(arcctg) = (0;7),

3. Vae (—o0;+00): ctglarcctga)=a,
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4. Vae (—oo;+00): arcctg(—x)= 7T —arcctgx,
5. arcctgx>0, Vae (—oo;+ ),

6. Vae (0;7): arcctg(ctga)=a,

7. pnGyghwG Gwqnn t:

Vv i—= rcatoy
> il =

Ul. 65
UnwownpuwGpltin
101. Quuhnuting hwjuwnunpd Gonwllymbiwywhwlyul pnGyghw-

Giph  qpudhyltipp Junmgbtp htnmljwyp pnbGlyghwltph
qpuiphyltpp.

w) y= arccos‘x

, L) y=arctg|x

9

p) y= ‘arcsinx , q) y= arcctgx—%,

q) y=arccos(x+1)-2, L) y=arctg(—x),
n) y= % +arcsin x, n) y=2arcctg(x—1):
102. GGt pnGyghwyh npnpiwl mhpnyypp.
w) y=arcsin(2x—1), n) y= ! ,
arccos x
p)y=arccos(x’+3x-2), L) y=./arctgx,
q) y=+arcsinx, q) y =arcctgx+arcsinx:

67



§15. 8mgswjhl L inquphpiwlul $niGlyghwbbp

1. 8mgswjhG pnilGlyghw

Uwhdwlnid: y=a" dInllghwl, npnbtn a-G dtyhg wmwpptip
npwiul phy £ (a >0, a #1) wjwlmd GG gmgsuyjhl pniGhghu:

OJunytbp gnigywyhl $niGyghwih hwmympmGGtpp:

1. pniGlyghwjh npnzdwl whpnypp D(y) = (—o0;+00),

2. pnilyghwjh wpdtipGtiph puqimpjmbp’ E(y) = (0;+c0),

3. pmGyghw ns gnijq k£, ny Yl

4. pnGyghwl wann k, tpp @ >1 L GJwuqgnn k, tipp 0<a <1 (GY. 66
w) b p)):

Y4 ‘ : VA

)

JE—

[ —

3 -
__..'_-""'" %S

Uk @ <

0%

2

w) )
L. 66

2. Lnquphpiwyuwi $niGlyghw

y=a" wénn (a>1) juwd GJugnn £ (0<a<1): <bmbwpwnp wjl
hwwnwupdbh E: 8migywjhl $niGyghwjh hwjunupd niGyghw
wijuwlnd G0 nquphpiwlwl $nililjghw’ y =log x:

y=log x L y=a" pnllhghwltiph qpnudhlltipp hwiwswh GG
y =x ninnh Guwmdwip (G4. 67 w) L p)):
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Lnqupphpiwlwul dPnmlGlyghwjh hwwmimpmGGipp htnmlmdy GG
gnigswihlG  $niGyghwh  hwwmlympymbGGtphg L  hwlwnupd
PIniGlghwjh dwuhl pinptuGbphg: OJunpyblp npulp:

1. pniGyghwyh npnzdwG whpniypp” D(y) = (0;+ o),

2. pmGyghwyh wpdtipltiph puqinipynilp E(y) = (—oo;+ o),

3. pmGyghwl mGh vy qun” x=1-p,

4. pnmGyghw ny qnuyq k, ny Yl

5. pmGyghwl wénn k, tipp a>1 L GJugnn k, tpp O0<a <1 (GY. 68

w) L p)):
}f.h. }m
V=logl X — V=logl x
=11 al 1
1T = [ 11
o] /1 x o] 1 x
\\
"~
-
=
——
w) P)

Y. 68
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UnwownpuwGpltin

103. Quwihnfuting y=a" L y =log_ x pnillghwGuph qpuwdhybtinp’
Junnigbp htinlywy pnGlyghwbtnh qpudhyGtipp.

B 1 x+2
w) y=2"", k) y=(zj , n) y=1gx-3),
p) y=3+57, q y=3", p) y=|log, x,
q) y=1-2", L) y=log,(2x+1), d)y=Ig:

n) y=[5"-2

b

§16. Jvwunp ophGuyGtp

OphGuwy 1. Gwnmgtlp f(x)=x +§ I Glyghwjh qpudbhynp:

Uju pnmlGyghwl npnpgwo L wipnne pywjhlG wnwlgph ypu,
pwgh 0 Ybwpg, wjuhlpl D(f)=(-=;0)U(0;+e0): Jbmlwpwp
wunq b, np gwlugwo x-h hwdiwp D(f)-hg —x-p GnylGuybu
D(f)-hg L: Pwgh wjyn, gwlugwo x-h  hwdwp  D(f)-hg

f(=x)=—x— 1 = —(x + l) =—f(x): MptdG PpmGyghwl [Ytlwn L:
X

X
Ltmbwpwp Jupbih Egpuui x-tph hwdwp junemgt] $niGyghwjh
qpuipplp, pul pwgwuwlwl x-tph  hwidwp gpuphlp uvnwlug
UnnpnhGwwOtph  ujqplwltimh Guwwundwdp Gpw  hwdwswthnp
Junnigbny:

Gpt x>0, wyw f(x)>x>0: Mptil $niGyghwh qpudbhynp
quniynmu £ wnwohl pwnnppmd L pGlwo &L y=x nunh L y-Ghph
wnwlgph vhol: Mwpq E, np qunyhG dquann npujul x-tph  hwdwn
IniGlyghwjh wnpdtpGbppn wiytng wémy GG, huy x-h wnpdbplbph
dtowguiwln gqnigplpwg dnilGlighwih wpdtpltinn wytih nt wytih phy
w10 nwnppbpynid y=x bniGlyghwjh hwiwwywunwufuw b
wndtipGtnhg: Lwlh nn npulju b x-tph hwiwn

it 2=CTD 50w f(0)22: Pugh wyn, £(1)=2: Nkt

X X
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npuul x-tph hwdwnp $niGlyghwjh thnppwaniyG wpdtipp 2-G E, npp
PniGyghw plgnilnd £ x =1 Yhwnnud:

dnmlGlyghwh wodwl L GJuqiwl hwpgn wywupgbint hwdwnp
wuwpgtitp  f(x)— f(x,) wpnwhwjunpjul Gulp: QGhGp

)= f(x)=x —x, +2

XX,

Gph O<x <x, <1, wyu O<xx, <1, hull x, —x, > 0: <bmlwpwp
u>)c—)c L f(x)—f(x,)= x—x+ x>x—x +x,—x, =0:
XX, XX,
Ujuwhuny, Gpt O0<x <x, <1, www f(x)> f(x,), wyuhlpl (0;1]
dhowlwjpnd niGlyghwb Gwqnn k:
Gph 1<x <x,, wyuw xx,>1, hull x,—x,>0: <tmlwpwnp
X, — X,

——<x,—x, b f(x)—f(x,)= x—x+ <x,—x,+x,—x, =0:
XX, XX,

Ujuwhuny, Gph 1<x <x,, www f(x)< f(x,), wyuhlpl [I;+ o)
dhowlwjpnmd pniGyghwl wdnn t:
Uju wdbklp hwpyyh wnlGhny ymGaGwGp GYwnp 69-n1d

wwwultnjwo qpuuiphyn:
| /K

[

il
L. 69

OphlGwy 2. Ywnmghlp f (x):\sin x\+\cosx\ PniGyghwjh

qnu-phyp:
Uju pmGyghwl npnpwo E widpnn9 pywjhl wnwlgph ypuw,
wjuhlGplG D(f) = (—o0; +00):
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Lwlh np gwijugwo x-h hwdwp D(f)-hg xi%-n (inyjGuytiu

. /4
sinf x+—
( 2j

=|cosx|+sinx|= f(x), wuww %-n wju  $niGyghwih  hwdwp

V4 .
+ cos(x + 5)‘ =|cos x| + |- sin x| =

D(f)hg t L f[x+§j=

wupptipnipniG bt {tmbwpwp Jupbih £ Juomglp $niGyghwjh
gqnwdhyp, ophGuy {0;%} hwnjwoh Ypw, wyw uvnwgyud

wwuwmltnp x-tph wnwlgpny %k -ny (k€ Z) mbnupwndt:
Lwlh np [0;%} hwnjwontd  sinx =0, cosx=0, wwuw

f(x)=sinx+cosx=+/2 sin(x + %) : MpbdG [O;%} hwwnyjwonid
f(x)=|sinx|+|cosx Pniyghwih qpuhhyp Yuwnmghnt hwdwp
whwp L y=sinx  pmlhghwjh qpuphyp x-tiph wnwlgph
nunnipjuip —%-m{ wmbnu)wnpdty, y-Giph wnwlgph tplyuwjipny
V2 wlquu «aqbip, hinwmglting x-Gph wnwlgphg, wwyw Ytpglg
wjn quuphyh 0< x S% wpughultiphl hwiwwwunwujuwlnn dwup:

Quuwptny ytplnd Gpgwo gnponnnipymiGGitpp” JunwGwlp Glwn
70-nid yuwwmytpJwo qpudbhyp:
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L. 70

OphGwy 3. Gunmghbp f(x)=2""" $mbyghwjh qnudhyp:

Uju pnlghwb npnpgwo L wjl x-Gphp hwdwnp npnlg phypnid
—sin’ x > 0: dhpohlGu hwiwnpdtp L sin x =0 wwjiwGhG: {Gmlwpwn
dnGyghwlG npnpywo t dhwyG x=mk (ke Z) UJtwmbpni: Uy
ytimtiphg jnipupwlyymipnd $niGlyghwih wpdtp hwjwuwn Lt 1-h:
Uyuwhuny, pnllghwyh qpuippyp YnnpnplGuwnwghlG hwppnipjud
(7k ;1) (ke Z)ytwmtph puqunmpynGa6 k (GY. 71):

VoA
-

(R

A

vl 71

OppGuy 4. Gunmghlp f(x) =1gx® pniGyghwjh qpudhyn:

Uju pnmlGyghwb npnpgwo L wdpnne pywjhlt wnwlgph ypu,
pwgh 0 Ytwhg, wjuhGpl D(f)=(—o;0) U (0;+0o0): Jtmlwupwp
wunq b, np gwlugwo x-h hwdiwp D(f)-hg —x-p GnylGuybu
D(f)-hg t: Pwgh wjn, gwlhyuwgwo x-h  hwdwp  D(f)-hg
f(=x)=1g(=x)* = f(x): MptdG PmbGyghwG qnijq L: <Gwnlwpwp
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Juptith £ npuiul x-tiph - hwdwp junmgty pnilyghwyh qpuidplp,
huy pwgwuwlwl x-tph hwdwp qpudphin vnwbwy  y-Ghph
wnwigph Gjuundwdp Gpw hwdwswhp junmgtny:

Lwlh np x>0 hwiwp f(x)=21lgx, wyw npuiwl x-tph
hwdwp wyn qpubhyp hwiplGylnmd £ y=21gx (YupohGu npnpguo t
thwjlG npuwiwl x-tph  hwdwp): y=2Igx Pmbyghwih qnudhyp
unwgymd by =I1gx pniGyghwjh qpuphlhg wjb y-Ghph wnwlgph
tpjwjlpny 2 wlqwud «iqhny», htnwglt;  x-tph wnw(gphg:
Ujuyhuny, f(x)=I1gx’ $mGyghwih qpudhyp mGh Gyup 72-md
Gipyuwyjugywo mtupn:

VA

\

=y ]

B \ 0 ‘f/,
\/
W

vl 72

1

OphGwy 5. Gunmgtlp f(x) = x* $nGlyghwh qpuphyp:
Uju pmbGyghwlG npnpqwo L wyl x-tph hwdwp npnGp
pwjwpuwpnid GG x>0 L x#1 wwjiwbGabpht, wjuhGph

D(f)=(0;)U(l;+00): Ujquhuph x-tph  hwdwp x* =x"" =10:

UWuwhuny, f(x)=x*  $mbyghwyh qpudhyp mGh Gyup 73-md
Gipywjwgywo mbupn:
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LY. 73
OphGuwy 6. Hwnmghlp f(x)=log, (x — %) +log, V4x* —4x+1

$nGlyghwjh qpuwdbhyp:

Juuwthnjutilp log, V4x* —4x+1 wnpunwhwjnnipyniln:
UniGtlGulp

log, V4x* —4x+1=log, /(2x—1)’ =log,|2x—1|=1+1og,

)
x——:
2

Ujuyhuny, f(x)= —logz(x — %) +1+log,

x—%‘: Unwohl gnidwptihG
hiwuwn niGh %—hg utio x-tph hwdwnp, huly Gpponpnp ponp x -tiph
hwdwn, pwgh %-hg: Lbnlwpuwp D(f):(%ﬁooj: bul] pwGh np

wjnwhuh x-tph hwdwp log,

xX— %‘ = logz(x — %) , wyyuw YmGtGwulp

Sx)=1: Wuuwhuny, nhnwpyynn $nGyghwh gpudhyp YmGhbw
Gyun 74-nid wwwmybpwo wmtupp:

}'J\x

b | —
LA

LY. 74
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LUJGLIUD

Unwohl wlqwd EbyumpnGwjhG Gmptpnl oquwgnpobiihu
(ugtipwjhG uyuywnwyhg gnpownpyt’p Fanction $wyip (G4, 75),
pwgynn ywwunthw@nid utindt’p  Install yndwyp, wyw thwytip wjn
wwwumnthwip (G4, 76): <wonpn  wlqwuilGtph hwdiwp  wjy
gnponnnipjnilpn vh yuunwntbp:

Function /&I Skark
Elds SWF File
fw.-:wh mathnet.arm 1-TTG Tl_ﬁb]_ 2 -(Dllll_l]]]_ !@ SKE

L. 75 Ll 76 Ul 77

EityupnGwjhG Gympbpp (ptiuntin, wihdwghwGtp, uvjwuynitn)
oquuugnpdtint hwdwn dhpn jugqbpwyhG ujujwnwyhg gnpownpyt’p
Start bwyp (GY. 77): Pugynn ywwmnithwGp (GY. 78) wipnne Eypwlny
nhunbtnt hwdwp View dtlyniph tGpwibklynihg pGumpbtp Full Screen
wnnp (GY. 79): <bnmwqu Junwywpnidp juunwpynd E qpnipjniG-
UndwyGtinh dhongny:

¥ Macromedia Flash Player &

[Flo View Cotd Hep e
Q.. J. U06uU3Uu

(4 MathNet.am)
‘-‘-_ #"

UuhUushlu

Y. 78 Ll 79

76



Otun wlgiuglbim hwdwp ubnit’p  «Ohuny qpnipyniG-
Undwyp (Gy. 78): Gpt pwgyty b Gwp 80-mu Ghpluywgywod
wuwwnthwlp, wyw ubnit’p 1 L 2 hwdwpltpng Gygwo nhppbpn:
<wonnn puwgynn ywunthwlnd pGunpt’p «O0yyenne» wmnnp, htimn
utiniti’p «OK» Yndwyn (GY. 81):

File Download |

Do pou wanl bo open or save this lle?

Mame: Funkcea best 2
v Type: Unknown Fils Types, 3,30
i:um E:l
Bhib : »
A e x

JOCTYNHBIE pERMME |
[] AWays sk before opering this type of fle " Korpons —
\While fles from the Irfemel can be useh, some files can potentialy fi: Ofiyuerie OTiena |
Ihaim your complter. [F pou do not fust the seurce. do not open o %
save this Be. whal's the ik \

LGptingt’p pwgynn wwwunithwGh wbpump, wwyw ubinib’p
«3akpobITh» ndwlp (GY. 82):

wpgtiph ywwwufuwGGtph mwppbpwyltpp gpjuo GG ytplhg
wnwohl yuwunthwlnwd (GY. 83):

{wpgbph wwuwwupuwGibpp whwp £ plGuopbp  Jtpbhg tpypnpn
wwwunthwlnd, www  ubtnibp  EypwGh Gtpplh dwfu
wlniGnd qubGynn «IpuasaTb» Yndwyp (GY. 84):

Utinibny typwGh Gtpplh  wo wilynlnd  qulynn
«Bmepex» Undwlp Ywpnn Gp npn) hwpgbp pwg pnnGhp: Pug
pnnwo hwpgtiphG wtwmp L[ JtpwnunGuw; «Hazag» Yndwyh
oqlnipjwip (GY. 85):

Tnp phup Gip hwGdlimd «bmlljghwy =
ptitw hg:

2tg Juwrwewnlytl Gpbp mhuh |
huwpg by,
1y hwupg by, npmlp mGGG6 GG d&hyn
wunnuwu fuwl
2) hwpgtin, npulp mGG06 §h pwlh
th2n upuunu futnG <

wf JaKpEITE

Ul. 82
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Dnm::hl Wi 15
Quntip y= Iog,M Bolilyg g ol iy pp:

1) (0; +o0)

2) (1; +) Lupg

3) [3; +x)

4) (-0 () o0 (0; + )

~
MuumuujuuGahph
mwupphpmlyGtn
0 2
3
il
L
000000000000000
f Miprisin oTBET ) thasagy ) Boepesy
L. 83

FUNKCIA =

R Eoemevi npomno: 004:19

Bpesscygs ocranocs: 0:00:00
Bonpor Z w1 15

Tunkip y= Iog,|,xi Jolityg e gf mpopdil e fipm pn:

1) (0; +0)
2) (L +w)
(3 +0)
4) (-o0; Gy (0; + o)

MuuwuujuuGibpp
pAmpymu GG Zwonpn hmpghG
w juwntin mghlbinm hmiwnp

/ ubiily
' Z
36000600 ‘oy% o
o Npeemns oTneT

EERE

Jhaay ) Brepen

Ul 84
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FUNKCIA B
T Epesarit npoanc: (e04:19

I Epessid octano: 0:00:00
Bonpoc 2 3 15

Qnbip y= Iog,|xi onlilyg puugh wpmpdwb wppm pp:

1) (0; #u)
2) (1; +o0)
3) (3 +2)
4) (o5 0y (0, + =0}

Jhpmnuniug
sujunnuufum Gu & Buig pnnlty
hwmpgtphG huipgp
& \

[l
;ﬁ
Ll

$90000000000000 \A... l '
o Mipswsiin o7BET Q ) Boepen

L. 85

Gpti hwpghG 6hywn Gp wwunmwufuwlt], wyw EYypwGh Gapplh
dwju  wlypmlmd hwjmymd £ Jwlwy powlwl: Uy
wuwwnwufuwlh nhypnud JpowGwyp Jupihp k (GY. 86):

FUNKCLA

horga & w1 1

Mpwnlbpefusd gpuchhlibphg o™ p0 L GLGuw Jaablpg gl qpochig:

Z

EEERE |

a900000200000000

o Mg T8t

L. 86
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Uty dhynn ywwunwujuwb niOtgnn hwpgh ntypnid hGwpwynnp
wwunwufuwGGtph YnnphG ppowluyGtin a6 (GY. 87):

FUNKCIA o

donpoc 2 w1 15

Qantip y=log, [ Puulilghugh npnzfwd wjpmpp:

1) (0; +oo)
2) (1; +a0)
3) [3; 4m)
4) (-e0; 00 (0; + =0)

[\

f Mgt o7me T Gnasan O toepen

L. 87

Uh pw6Gh ¢hpn wywwunwujpwl nmbGhgnn hwpgh nhypmd
hGwpwynp uwumwuhuwGGtph YnnphG pwnwyniuhGtip GG (GY. 88):

Gpt wtwp k npnptp hwiwyuwumwufuwlnipniGn (GY. 89), wwyuw
wwwnwufuwlltph pwdlnd dwpu Ynnuimd nplk wnnG pGupbng
httmn w9 Unnimd wbtwmp E plupb; gpul hwdwwywunwupuwlnn
wmnnn:

Pninp hwpgbphG wwwnwufuwlbinig htinn pwgynn
wwwunthwlnd YutiuGhp pt pwlh hwpgh Gp dhym wwunwupuwGb,
pwlhupG® uvpwp;: YwmbuGhtp OGwlk  hwjwpwo puytipp U
qiwhwwnmwlubn (GY. 90):
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FUNKCIA

-ﬁr‘mﬂ. | 4 . ;D:I;\:aﬂg;iﬂ
Ponpoc T o 15 S -
Tl quuhhlyitphg wpnlp 66 qaughi b fough quuphly:
¥ j ¥ L
/‘ 5 }f f/\ v/
1) 2 3 4

=10y /
)
4
AL TOPR O THETOR:
2900220200200 200Q0
lpesormer, Otoan  Omeeper

Ul 88

[y

ponpoc 8 w1 15

i mpowna: 0000:30
ipad OCTAMCR: ((R0CH00

Nzt hfuguon oo g golin:

1) cosx a) Yhilin

2) sinx by np Y, ny quipy

3) 2kl ) qmg
] 5]
1) B
] al
[Noracey. =
I
[T o) OTDET0N:
2900000000020020Q
Ao

Ll. 89

81




LN

Bonpocoe ecera: ¥5

3aaaH0 Bonpocoe: 15 Bhyn ywuowuowGahpp

Apjpml wunuujuwGGkpp
12

Zujupwd pujkpp

HpaBHJ’IbeI}{ OTEETOE .
HeEepHLl OTESTOE: 3
Habparo bannos: 14(820%)

Balwa oueHa:d < Q- GuwbumnwmljmGp

[rEMA NPOXOHAEHMA
Aata Tecta: 04.06.2007

Bpema npoxoxcieHMa: 0:04:42

Vr 3aKpheITE

Ll 90

UiwynGtinhg oquytiynt hwdiwnp 9tip hwdwywnpghymd whwup t
wmtinunpjuo 1hGh Microsoft Office PowerPoint thwptipp: Gpb wjl
Juw, wyw ubtnit’p  «Upugn»y  qpmipymiG-Yndwyp (GY. 78): Gph
pwgyti £ Gyun 91-md Ghpluwjugduwd yuwwmnithwlp, wwyw ubnit’p 1
L 2 hwdwnpGtpny G)Jwo nhppbipp: <wonpn pugynn wwwmnthwlnid
pnptp dtg wlhpwdtpm wwpwqpudh YtpGwghp qpnmipmil-
Undwyn (GY. 92):

File Download 3

Do you want to open of save this file?

2

Mams: 2,
'ﬂ_] Type: Hl:r'::ﬂﬂ init Presentation, 210 kB
1 From:  E:|
[5‘/ [ ool ® ] [ sew | [ cocu ]

Abways ak before opaning this type of fle

Wit flbe:s from the Inbeinet can be wweful, some fles can polentialy
baren pous compasher, I wou do nol st the sowce, donot open o
s i e, ‘What's the gk

Ul 91
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dniGlghw

dmGyghwjh qpudphy

9-0owjhb pmGlyghw
bnlyghwltnh hwmynipniGGtpp
Lwnwlnuwjhl pniGlyghw
Lwnwiiniuh wlihwyjwuwnpnilGbp

y=Ix|, y=x, y=k/x dniGyghwbGtipp

QnponnnipjniGGtp $niGlghwltnh htin

Qulwnwnd pniGyghw

y= f{/} PniGyghwb

GnwlyniGwywthwlul $niGlyghwbGtn
dwjwnupd trnwlynGwswhwlywub $nGyghwmbtp
8nigswjhl L (nquphpiwub pniGlyghwitn

Y. 92

dtq wlhpwdbim dwjp pwgbny YnmbGhGwp Gwp 93-mud
Gipyuwjwgywo yhdwlyp: Udpnne Eypwlnyg upuwynp nhnbint hwdwp
uyGhyh gmghyp wwhting wyn wwwnithwGh Ypw’ ubndbp we
untinlp, wyw pwgynn tGpwdtilynithg plunptp Full Screen wmnnp
(GYwpnud vjwpny gniyg £ mpduo wyh):
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£} 2 - Microsoft Internet Explorer

Fie Edt Browse GoTo Favoites Help
x| :', L / Search Favorkes 67 i-m * & ' b e ‘;i

- -;!_]E;'.'z,pp.; o ﬂGO 1. W Gsna:lll = '-J-.'

Reverse T ov=f(x) pmbhghuyh gmudhl wiguimd GG
Ycd prnk... hi hwppmppul (x; f(x)) Yhnbph puginipmbp,
1 Copy Shde FJ.;

(x: Mx))
] f(x)

Jey [:{;;_if{:_.)l

oW

] Doverdoading froe sibe: Fille:ffE:\2.ppt Uriknown Zone

VY. 93

Ujn wwpwgpudh djnu vjuynbbphG wgltint hwdwnp oquytip
untinGupwnph Guwp 94-md Ghpwjwgyuo YndwlyGhphg:

Ul 94

UpwynGtph ghunudp wjwpntjim hwdw ubinitp uvnbnOw)wph
«Esc» ndwlyp, nphg htimn thwytip dwjin:

UGhdwghnG Gmupbtpp Jbpwpbpynmd GG $niGyghwGhph
gnwbhyltinphG L npwlg AduwhnfumpniGGhphG: Ujyn Gnplph
pnjwGnuynipjniGp L junnigwopp mbu Gup 97-mu:

UGhdwghwGtpp phwnbine hwdwp  ubinib’p «UGhdwghw»
gnmipjniG-Yndwyp (GY. 78): “pwlhg htnn Gmp YynmGhGup GHunp
95-mu Gapywyjwugywo Jhdwyp:
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UY. 95

Utindtiny  «Gpwdbhyltph  dLwhnfumpniGlGtpn»  qpnipjniG-
Undwlyp Yuwlglhp hwonpny Lo L YmbGhlGwp GHwp 96-md
Gipwjwgywo Jhdwyp: UjGwmbn qpnipjnb-yndwlltph dhongny
iwini tip pGunpb] wnwownpyynn Gptip pwdhGltphg nplk dtyp Jud

yndwyh vhongny Yytipwnwniw) Gwpunpn to:

LY. 96
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Gnuwdhybtph dbwhnfunipynGGtin

Swpp:ullwﬁ q.pwfl)lllllﬁhph Opllﬁllullﬁh[l

dIniGyghwGtinh | dLwhnfumpjniGGtph
anwphlyGtinp wbuwybpp 1y =l -2|
> = |
y_f(x)+ -y=|—x|
y=Jf(x+a) [y =4+
y=4r) (5
y=—f() [
x—3
y = f(kx) :
:_x+1
y — f(_x) 3x+6
17 2x+5
Y= f(‘x‘) - y:|x2—4x+3|
y=|f(x) (=7 4443
| |x+3
Clx—1
_ -3
-2
| _‘x‘+2
- ‘x‘+1
=y = 3 cos %
L y:‘sinx+ 3cosx*

Ul 97
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Gpt utinitp «bmuljghwuliph qpudbhyGtph aLwihnfunipjnil-
Gtpp»  qpmpyniG-Yndwlyp, wwyw  YmbGhGwp Gup  98-mud
Gipyuyjugwo  YJhdwlyp L wylwmbn YJwpnn bGp pluphg
dLwhnfunmpjul mp mtuwlltphg nplukt dGyp, wjuhlpl Ywpnn Gp
nhwnb] wjn mhyh dbwhnfunipjwb dh pwlh wihdwghnb ophGul:
UGhdwghwGtpp gnignpnynud G0 dwjlwjhl pwguwmpnipniGatnny
(hwjtinptG):

Oquytiny «stop», «play», «rew» YndwlGtiphg” hwiwyuwwnmuu-
fJuwlpwp Jupnn tp guwlluwgwd wwhh Jwiqltglt; wGhdwghwd,

2unniwyt] wihiwghw(, yipwnunlw) Gwfunpn k9 (GY. 100):

U 98

Gpt utinutip «OphGulGbp» qpmipjmG-yndwlyp, wyw YniGhlGup
Gup 99-mud Ghpyuwjuwgyuo yhdwlyp b wjlwnbn Juwpnn Gp plGupbg
Gipyuyjugywo ohGwyltnhg npbk Wbyp, wjuhlplG nhwnbt]p w)n
dnGyghwih qpuwdhyh Yunmgdwl wlhdiwgul' gqngnppjuo
dwjlwjhG hwytintl pugwumpnpynGGtpny:
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LY. 99

LY. 100
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Oquytiny «stop», «play», «rew» UndwllGtphg® hwiwyu-
nwufuwlpwp  Jwpnn Gp  gwGiugwo wwhh QJuqltglby
wlihdwghw(, Jwpniwly wihdwghw, Jopwnunlwy Gujunpn E£9
(GY. 100):

Bwlljugwo Lomui qulybihu, oquyting uwmbtinGu)wph «Esc»
Undwlhg, Jwupnn tp YyGpuwnunlw] wipnn9 typwip sqpuntiglnn
ntdhih b thuftinyg pwyin nnipu quip opwgnphg:

&9



MuunwujuwGGtn

1.w) 7; p) 10; q) 9%: 2.-1;0,5; 3: 3. w) 115;p) 54; q) 2; ) -37:

4, w) -2.2; p) 1.8; @) 1,2: 5. w) 0; 4; p) —1: 6. w)(—o0;+0);
D) (=o+00); q) (—o0s5)U(55+0); 1) (—eo—D)U(=1;4) U (4;+00);
b) (—o05+); q) [S;+e0): 7. w) ophliwy y=5-x; p) ophlwy
2
X—
9. w) wyn; p) ng; q) wyn; i) ng; &) ng; q) wyn: 10. p)-G: 11. w) 4; 2; -3;
2;p) £ 225 -2, 45 9) [3; 4], ) [-4-2)0(Z4] y>0; (-2; 2)
y<0: 12. w) —4; 2; 3; 5; -3; p) -5; =6; 2; q) [-5; 5]: 13. £2;
[-5;—2)u(2;5] y>0; (-2; 2) y<0: 14. -5; -3; 0; 4;
[-6;—5) U (=3;0)U(4,5] y>0; (=5;=3)u(0;4) y<O0; [-3;5]:

y= 0 8. w) (—oojt+o0); p) (—o;—1)U(=1;+00); q) [-9;+00):

17. w) 15; p) % _6; q) —2; 1) smh: 18. w) wyn; p) wyn; q) wyn;

n) ny; t) ny; @) wn: 19. 0; 6; 23; —44; —12; 4: 20. w) 6; —1; —7; -5;
p) 3,75, 1,5; 1; 2,25: 23. w) (0; 9,6); (4; 0); p) (0; -28); (-40; 0);

q) (0; 6); (-5; 0); n) (0; 2); (0,4; 0): 24. y:—lzlx+11: 25. w) wyn;

p) wyn; q) ny; 1) wyn: 27. w) qmquwhtin tG; p) hwnymd GG;
q) hwnymd tG; n) gqnuquhtin GG; &) hwnymd G6; q) hwnymd GG:
28. w) opplwy y=2,5x—-1; p) opphGwly y=x+4: 29. w) ophGuy
y=3x+4 L y=3x-5; p) oppwl y=—x+3 L y=x:
30. w) (1; 2); p) (8; -6); @) (=2; —-110); n) (1; 29); &) (2; 28); q) (4,4; -6):
31 w) [-2: 3] T5 [6: 2] b [3; 6] 4 p) fimo=4: fmen="3: 33.1); )
b): 34.w); q); q): 35.w) wyn; p) wyn: 36. w) wyn; p) wyn: 37. wjn:
38. w); p): 39. p)-G: 40. wm) y=5; y=-3,2; p) y=4x; y=-3x;
qQ) y=—x+7; y=—2x-3: 41.ns: 42.n3: 47.w) 1,5625; 0,5625; 2,25;
p) £245; £243; £242: 48.w) 4,5;0,5; 4,5; p) £1; &; 0: 50. w) ny;
p) ng oq) wyn; (25 3); (35 6)r 51 w) wyn; p) ng q) wyn:

54. w) [i;+oo); 1) [1,82;400); Q) (—e=:2,5]: 1) (_w;_%} 55.-12; 24:

56.2: 57.w) c>13;p) c>8: 59.w)-7; 12;p)-5; 6: 60.w) (-4; 4);
RS AR WV S S R A T
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) (-es—2]U0;+);  b) (—g;oj; Q)  (-50)U(7;+):

61. w)(~8:6); p) (—w;%)u(2;+oo); q) (—o0;=3)U(5;40); n) (1;1,2);

b) (—oo;%jue;woj; Q 95 b (0,09); p) (—o0;0)U(3,5+c):
62. w)(—os—25]Ufl;+0); p) [-23]; @) (-o03—=7)U(0,5+0);

2 2 15 2
o (2o Zirefitr [ L] cmsron o2
) (-2v2522): 63 w) (2.5} p) (~032]UBi+%0) @) D 1) (—ooi+00):
64. w) wjn; p) wyn; q) wjn; ) wyn: 65. w) wyn; p) ng; q) wyn; 1) n:
66. w); q); n): 67. w) 2;p) 0; @) 15 ) 2: 68. w) wyn; p) ng; q) ny:
69. w) wyn; p) wyn; q) wyn; 1) wyn: 70. w) wyn; p) wyn; q) wyn;
) wyn: 71 w) ng; p) wyn; ) ng: 72, w) wyn; p) wjn; q) ng
73. w) wyn; p) wyn; q) ng; 1) wyn: 74, w) ng; p) wjn; q) ng
75. w) k<0; p) k>0: 76. w) [0;2]; p) (45]; q {3}
77. w) [-3D)U(L5]; p) @: 78. w) F(x)=9x—4, D(F)=(—o00;+0);

2 . —
P F(x)—m, D(F)—(—“,"'“’)a q) F(x)=x,
. R __ 2 I S A S
D(F)=(=o:0)0(0:+0); 1) F(x)= . D(F) [ ,3]u(3, ]
) Fx)=2X ~0x+8 D(F) = (= 00;0) U (03 + 0);

qQ) F(x)=6x"—9x+14, D(F)=(-oo;+); L) F(x)=[2x"-3x+3,
D(F)=(=oeo;+e0); p)  F(x)=2x"=3x+5,  D(F)=(-o0;+00);

p) Fn=2"%
X

, D(F)=(=00;0)u(0;4+00): 79. w) f(x)=x+2,

g(x)%, y=g(fO); B) f)=x—2, gW=x—1, y=f(g(x):;

Q) f(O)=2x-7, gx)=x", y=f(gx); 1) f()=|x, gx)=Tx+2,
y=f(gx); b) f(x)=x+3, g)=x", y=g(f(x); q@ fx)=|x,

gx)=5x-4, y=g(f(x)): 83. w) wjyn; p) ng; q) wjn; 1n) ng
85. w)fBN<f42); pf(52)<f(=65; q)f(7)>f(6);
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) fGN>f(=29): 86. w)gB9)>g(7,6); p)g(-46)>g(-5,5);
Q) g(—10)< g(7); 1) g(—63)< g(63): 89. w) 3°<3”; p) 03" >03":

90. w) 2”7 <2"; p) 027>02": 94. w) ysz_B, ) y=2

X

2
Q) y=- x+3, n) y=-x , xe€l[0;+e), k) y=+Jx+6,
X
Qy=4-~17+x: 98. q) (—o0;=5)U(-5;+), ) (—oo;ﬂ,
27 T
27 27 T
L) ? 5 n ? 5 P) g . 102. w) [0;1],
—3-421 =3-413| [-3+13 —3+4/21

p){ S T 5 }U{ R , @) [0:1], n) [-L1),

) [0;+ ), q) [-1;1]:

92



£AJULVRUUNMO3NML

§1. DNLAYGRW cevvvveieeeeeeeeeeiiiccee e e eie a0
7
9

§2. dnilGhyghwgh QPUDNY.eeeeeeeieeiieeeee e,

§3. QG- 0w hG PntGYGRWL. .., 12
UnwownnuilpObp. .. ..o e 15
§4. dnlGyghwltph hwwmynipymGGLpp.....ooeeeeeiiii 17
UnwownnuiGpObp. .. ..o e 21
§5. Lwunwyniuwjhl $niGyghw. ..o 24
UnwownnuiGpObp......oooiiiii e 27
§6. Lwnwyniuh wihwywuwpnudGhp............o. 29
UnwownnuiGpGbn.....coooveiii e 32
§7. y=[x, y=x Ly =§ $mGyghwGhpp...........enee.n 33
UnwownnuilpObp.....ooooiiin e 36
§8. GnponnnipynGGtp pnmGyghwltph htiv ................... 38
UnwownnuiGpGbn.....oovveeii e 40
§9.bnlGyghwjh qpudbhyh duwhnfumpniGGhp................ 41
UnwownnuiGpGbn.....oovveeii e 45
§10. AGwlwl gnighyny wumhdwlwjhG nbGyghuw........... 46
UnwownnuiGpGbn.....ccovveiii e 48
§11.Lwjunupd $niGYghua ...ooovveiiiii i 49
UnwownnuilpObp......oooiiin e 54
§12. ¥y = % IniGUghwiG... ..o 55
UnwownnuilpObp. ..o e 57
§13. GnwGpyniGwsuwhwwb pmbGyghwtp.................... 58

93



UnwownnuiGpObp......oooiiii e 62
§14. Qwjwnund tnwGyniGuwsuhwlwl $pnmGyghwtn.....63

UnwouwnnuiGpGbn.....coooveii e 67
§15. 8migswhG L (nqupphpiwwb pnmbGyghwbhp ............ 68
UnwouwnnuiGpGbn.....ccooveiii e 70
§16. fownp ophGUYGHD ..ovveee e 70
QWYBIYWIO . et 76
MuNWUUWGGEN. .o 89

94



